UGC NET 2021 Comparative Study of Religions

Topic:- 62COMPARATIVE SR_A

1) To understand the meaning of text the idea of ‘‘language game’’ is given by text
(1) Mircea Eliade (2) Soren Kierkegaard
(3) Ludwig Wittgenstein (4) D.T. Suzuki
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2) ‘Zend-Avesta’ is the sacred book of
(1) Judaism (2) Toaism

(3) Zoroastrianism (4) Jainism
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3) Identify the approach of Gerardus van de Leeuw for the study of Religion
(1) Anthropologicals (2) Historical

(3) Sociologica (4) Phenomenological
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[Option ID = 6024]

4) ldea of ‘Creative hermeneutics’ introduced by
1) Friedrich Schleiemacher (2) Friedrich Nietzsche

3) Mircea Eliade (4) Claude-Levi-Strauss
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) This doctrine follows the vedic culture
(1) éramar_lism (2) Sufism
(3) Purus_ﬁrthacatustaya (4 Communism
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) Ekam Sadvipra Bahudha vadanti’ 1s mentioned in the
(1) Regveda (2) Ramayana
(3) Atharvaveda (4) Manusmrti
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7 Among the following is the founder of Yoga system
(1) Kapila (2) Gautama
(3) Patanjah (4} Kanada
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[Option ID = 6040]

8)  The epic Valmiki Ramayana is divided into
(1) Eight parvas (2) Nine Addyayas
(3) Seven Kandas (4) Six Adhikaras
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%) Prominent preacher of Vaisnava Bhakti — movement is

(1) Shankaradeva (2) Jagannatha

(3)  Kabir (4) Rahim
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10) ‘Nirjara’’ is included in this group of Jain principles
(1) Six substances (2) Five vows

3) Seven elements (4) Three jewels
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11) The meaning of ‘‘Pudgala substance’’ in Jainism is
(1) Matter substance (2) Medium of rest

(3) Medium of motion (4) Jiva substance
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12) Khajuraho is famous for -
(1) Jain manuscripts (2) Birth place of Neminatha

(3) Jain education centre (4) Architecture of ancient Jain temples
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13 _
) "Acaryva Bhikkhu" was the founder of this sect.
(1) Caityavasi (2) Sthanakavasl
(3) Taranatarana pantha (4) Terapantha Svetambera
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14
) These are called four “Ghati Karma”

(1) Jhanavarana , Darsanavarana , Ayu, Nama

(2) Mohaniva, Antaraya. Vedaniva. Gotra

(3) Jiianavarana, Daréanﬁvaraqa . Mohaniya. Antarava

(4) Jiianavarana, Daréanﬁvaraqa . Vedaniya. Antaraya
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4. 4
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15) Ayagapatta in Jaina Arts found here —
(1) Ayvodhya (2) Vallabhi
(3) Mathura (4) Mysore
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16) Identify the name of country having Mahayana tradition of Buddhism in practice
(1) Cambodia (2) Myanmar
(3) Bhutan (4) Sri Lanka
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17) Identify the realisation or achievement of a buddhist monk after the end of the meditations

while leading to the final initiation of the four noble truths

(1) end of rebirth (2) realisation of truth

(3) death is inevitable (4) victory over the samsara
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[Option ID = 6077]
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18) Identify the second of five aggregates in Buddhism
1) Sanskara (2) Rupa
3) Vedana (4) VijAana

TE 99 F U8 T 4 9 3H 1 IR Fie -
[

() =R () =9
(3) =W (4) ==
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[Option ID = 6083]
4. 4

[Option ID = 6084]

19) The earliest epigraphic evidence mentioning the birth place of Sakyamuni Buddha
is obtained from
(1) Sarnath (2) Sravasti

(3) Kausambi (4) Rummindei
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[Option ID = 6088]
20) ldentify the option that is NOT correct about the book ‘‘Gospel of Buddha’’
(1) the book tells us the story of the Buddha through parables
(2) this book was meant to introducing Buddhism to the Western World

(3) this book has only one edition in print format

(4) the translation of some of the verses of Dhammapada are found in this book
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[Option ID = 6091]
4. 4

[Option ID = 6092]

21) ldentify from the following options that is NOT included in five precepts in Buddhism
(1) not to harm or kill any living being (2) not to lie

(3) not to have food at improper times (4) not to indulge into sexual misconduct
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22) ldentify the day on which the Sabbath, according to the judaism, is celebrated
(1) Thursday (2) Sunday
(3) Friday (4) Saturday
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23) The ‘Shema’ prayer of the jews for the great confession of faith is found in the book of
(1) Genesis (2) Leviticus

(3) Denteronomy (4) Exodus
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24) The place where the translation of jewish scriptures into Greek, known as Septuagint, was begun
(1) Bethlehem in Judea (2) Alexandria in Egypt

(3) Nazereth in Galilee (4) Cana in Galilee
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25) Joshua, son of Sirach, composed the book of old testament, commonly called
(1) Ecclesiasticus (2) Ecclesiastes

(3) Nehemiah (4) Lamentations
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26) Identify the two main strata of Talmud
(1) Gospels and epistles (2) Synoptic and Johannine

(3) Acts and letters (4) Mishnah and Gemara
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27) ldentify the person who was sent to Jerusalem to be educated under Gamaliel
(1) St.Peter (2) St.Paul
(3) St.Thomas (4) St. Mathew
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28) Identify the leader of the Jewish school who stood for the strictly literal interpretation of the oral laws of the jews.
(1) Hillel (2) Pauline
(3) Shammai (4) Petrine
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29) Identify the celebration on which the birth of Jesus is remembered:
(1) Easter (2) Christmas

(3) Good Friday (4) Epiphany
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30) A book on Hadith terminology entitled ‘al-Kifayah fi ilm-al-Riwayah’ was written by
(1) Imam Zahabi (2) Khatib al-Baghdadi
(3) Ibn Hajar al-Asqgalani (4) Imam Bukhari
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31) The name ‘Jami’ is given to the collection of Hadith by
(1) Ibn Majah (2) Al-Nasai
(3) Tirmidhi (4) Abu Daud
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32) Imam Ghazali was a strict follower of
(1) Mu'tazilism (2) Asha'rism
(3) Zahirism (4) Maturidism
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33) According to the Ithna Asharis the seventh Imam was
(1) Ismail (2) Ali-al-Rida
(3) Musa al-Kazim (4) Jafar al-Sadiq
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34) 'Khalg-i-Quran’ is the belief of
(1) Jabarites (2) Mu'tazilites
(3) Asharites (4) Maturidis
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35) Kal taran Gur Nanak e aia is written by
(1) Guru Gobind singh (2) Guru Amardass
(3) Bhai Gurdass (4) Bhai Nand lal
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[Question ID = 1538][Question Description = Q35_CSR_SHAAN_20NOV21_S1_Shift1]
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4. 4

[Option ID = 6152]

36) “Mahan Kosh” book is written by
(1) Bhai Kahan Singh Nabha (2) Gyani Gurdit Singh
(3) Bhai Jodh Singh (4) Sirdar Kapur Singh

[Question ID = 1539][Question Description = Q36_CSR_SHAAN_20NOV21_S1_Shift1]
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[Option ID = 6153]
2.2

[Option ID = 6154]
3.3

[Option ID = 6155]
4. 4

[Option ID = 6156]

37) ‘Sacha Soda Sakhi’ related with Guru Nanak contains
(1) Vaaran Bhai Gurdass (2) Puratan Janam Sakhi

(3) Guru Nanak Bani (4) Janam Sakhi Bhai Bala
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38) ‘Prachin Panth Parkash’ is written by
(1) Gyani Gyan Singh (2) Rattan Singh Bhangu
(3) Bhai Gurdass (4) Bhai Nand Lal
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[Question ID = 1541][Question Description = Q38_CSR_SHAAN_20NOV21_S1_Shift1]
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39) Identify a bani that is not included in Adi Granth -
(1) Bawan Akhri (2) Patti
(3) Sidh Gosti (4) Jap Sahib
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40) Sikh hero Baba Banda Singh Bahadur was born at
(1) Rajouri (2) Nanded
(3) Lahore (4) Anandpur
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41) ldentify the Kingdoms associated with the life of the Buddha

(A) Avanti
(B) Gandhara
(C) Koshala
(D) Magadha
(E) Vajji

Choose the correct answer from the options given below:
(1) (A), (C), (E) only
(2) (A), (B), (C) only
(3) (B), (C), (D) only
(4) (C), (D), (E) only



T AT il TE=H HA0 T g = Aad J Taad w

A smEfa
(B) TR
(C) =
D) =g
E)

= fow v e | @ @R 3T 1 = i

(1)  F= A, (©). (B)
2  F=F(A). (B). (O)
(3  F= (B), (O), (D)
(4) = (C). (D). (B)

[Question ID = 1544][Question Description = Q41_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6173]
2.2

[Option ID = 6174]
3.3

[Option ID = 6175]
4. 4

[Option ID = 6176]

42) ldentify the leaders of religious authority
(A) Preacher

(B) Magician

(C) Totem

(D) Prophet

(E) Saint

Choose the most appropriate answer from the options given below:
(1) (A), (C), (E) only

(2) (B), (D), (E) only

(3) (©), (D), (E) only

(4) (A), (B), (C) only
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[Question ID = 1545][Question Description = Q42_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6177]
2.2

[Option ID = 6178]
3.3
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43) Indentify the correct combination from the statements given below:

(A) “Religion is belief in spiritual beings”-E.B.Tylor

(B) “Religion is a rational phenomenon”- Rudolf Otto

(C) “Religion is the sigh of the oppressed creature, the heart of heartless” -Karl Marx

(D) “Religion would thus be the universal obsessional neurosis of humanity”- Sigmund Freud
(E) “Religion is not belief in Magic” - J.G. Frazer

Choose the correct answer from the options given below:
(1) (A), (D), (E) only
(2) (A), (C), (D) only
(3) (B), (C), (E) only
(4) (A), (B), (E) only

Fr= f2u o At O ® oF 7y F geee i

(A) “= wTeAfea Sl | favas 27 - B 2en

(B) “of UF dAlfFH UG 27 - FSEH AR

(C) “go =fim =il =1 wrm #2398 = 229 217 — F1 "iEd
(D) @ THR 94 T il B0 F AELieE e 2

(B) “gu 9g ¥ favam 76 217 - 3.5 =

Hi= fou o faweul 4 © wE I B 999 iAo

(1) a9 (A). (D). (E).
(2)  FF9 (A, (0. (D)
(3) ¥« (B). (C). (E)

(4  Fa4 (A). B). (E)

[Question ID = 1546][Question Description = Q43_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6181]
2.2

[Option ID = 6182]
3.3

[Option ID = 6183]
4. 4

[Option ID = 6184]



44) ldentify the three terms which were used by Sigmund Freud in Psychological approach:

(A) other

(B) Id

(C) ego

(D) self

(E) super ego

Choose the correct answer from the options given below:
(1) (B), (C), (E) only
(2) (B), (C), (D) only
(3) (A), (C), (D) only
(4) (C), (D), (E) only

TS gEE s w5 gw v e e e e i weee i

@& =

B) =

€ =

(D) T
(E) "o

Hr f2u o faea 8 9 wE I = i

(1) === (B), (0. (B)
(2) =49 (B), (O), (D)
(3) == (A), (O). (D)

4 Faa (C). (D). (E)

[Question ID = 1547][Question Description = Q44_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6185]
2.2

[Option ID = 6186]
3.3

[Option ID = 6187]
4. 4

[Option ID = 6188]

45) Philosophy of religion deals with

(A) Manifestation of Religio
(B) Metaphysics

(C) Ethics

(D) Meditation

(E) Epistemology



Choose the most appropriate answer from the options given below:

(1) (B), (D), (E) only
(2) (A), (B), (C) only
(3) (C), (D), (E) only
(4) (B), (C), (E) only

(A) o9 F T

B) TS
(C)  HAfawa
(D) =T
(E) =

Hi= fou o famweul 4 @ 9E I #1999 FifAu

(1) F== ®B). (D). (E)
@ == (A), (B). ()
(3  F= (). (D). (B)
@4  F=9 (B). (O). ()

[Question ID = 1548][Question Description = Q45_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6189]
2.2

[Option ID = 6190]
3.3

[Option ID = 6191]
4. 4

[Option ID = 6192]

46) Read the following statements and identify correct answers :

(A) Satpatha Brahmana is the basic commentary of Yajuryeda

(B) The concept of Purusa element is philosophical reality in Nyayadarsana

(C) ‘Karmanyevadhikaraste ma phalesu kadacana’ is the famous concept of the Bhagawadgita
(D) ‘Tantraloka’ is the basic text of

(E) Valmiki is recognised as Adikavi of Sanskrit literature

Choose the coreect answer from the options given below:

(1) (B), (C), (D) only
(2) (A), (C), (E) only
(3) (A), (B), (D) only
(4) (A), (B), (E) only



(A) T FE TAE F g S 2

(B)  =rFeuA H yEd av 1 HAHE S aratadar 2|

(C)  ‘THvdaTa=hied °1 Fel] Fara SE i i ufirg srEumn 2|
(D)  A=TEE AEEE AR O R

(E)  =¥Fd Aifaed § Ao o 1% HT T = E

= fou o faeui A @ G 3 # == i

(1) == (B), (C). (D)
@  F=4(A), (0). (B)
(3)  Fa (A), (B). (D)

4 ¥ A), (B). (B)

[Question ID = 1549][Question Description = Q46_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6193]
2.2

[Option ID = 6194]
3.3

[Option ID = 6195]
4. 4

[Option ID = 6196]

47) Read the following statements and identify correct answer :

(A) ‘Vasudhaiva Kutumbakam’ is the declaration of vedic culture
(B) Sixteen Padarthas (topics) are explained in Nyayadarsan

(C) Chaitanya Mahaprabhu was preacher of Saivamata

(D) Preaching of the Bhagavadgita is disinterested action

(E) Tulsidas was strong opponent of Idol worship

Choose the most appropriate answer from the options given below:

(1) (B), (C), (E) only
(2) (A), (C), (D) only
(3) (A), (B), (C) only
(4) (A), (B), (D) only

(A)  TEET T AEH TR H IgEE B

r

(B) 4S9 H Hiels TSIl Tl SATEAT i TE 7|

(C)  iamd % 3929 da—=Hemy 9|
(D} a:lqr-_"-e_ l“I ol =Rl dq-F;lﬂ_l i;-lszfa II'?J:E.%[

(E)  doi=s giagsn F sae i 91



e f3u U fasedl A W TEE UG I B FEA R
(1)  #=E (B). (). (E)
(2) A4 (A), (O), (D)
(3)  Fa9 (A). (B). (C)

4  =aw (A), (B). (D)

[Question ID = 1550][Question Description = Q47_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6197]
2.2

[Option ID = 6198]
3.3

[Option ID = 6199]
4. 4
[Option ID = 6200]

48) Read the following statements and identify correct answer:

(A) The word "Vedanta" is also used for upanisads

(B) "Svadhyayanma pramadh" this vedic denies for reading books
(C) Sankaracarya has used the word maya and avidya in same sense
(D) The concept of " Brahma" explained by Ramanuja

(E) ‘Geetarahasya’ commentary was written by Balgangadhar Tilak

Choose the most appropriate answer from the options given below:
(1) (A), (C), (E) only
(2) (B), (C), (D) only
(3) (A), (B), (D) only
(4) (A), (B), (E) only

(A) IulE # o FEe we ot w2

(B) TSR WHE: - T2 AfEF git WA T H g FAl 2
(C)  wrhtr= = " N ST wsgl e A9 4 uge e 2
(D) T w& =T i S T |4 2

(E)  iam=er T/ = ne st 9o | i 7

9 73U 1o fashedl @ | FEE UG I A FET FIAC

(1) F=4 (A), (©). (B)

(2) %3 (B). (O). (D)

(3) = (A). (B). (D)

4)  F=d(A). (B). (E)

[Question ID = 1551][Question Description = Q48_CSR_SHAAN_20NOV21_S1_Shift1]



1.1

[Option ID = 6201]

2.2

[Option ID = 6202]

3.3

[Option ID = 6203]

4. 4

[Option ID = 6204]

49)

(A)
(B)
(©
(D)
(E)

Read the following statements and identify correct answers

Vidyaya vindate amrtam ’motto is found in kenopanisad
Period of Madhvacarva is 9 century C.E.
Lanka—dahana event by Hanuman is described in sundarakandaof Ramayana

Mahatma Gandhi was writer of ‘Geetarahasya’

The Nyayasutra was written by Gautama Aksapada

Choose the most appropriate answer from the options given below

(1
(2
(3)
4

(A). (B). (D) only
(A). (©). (E) only
(B). (C). (D) only
(B). (D). (E) only

A =
B) &=
(C) ===
D) f=m
(E) =

= fou o famwewi A4 9 wE 3 #1 =Eq iAo

(1) T
(2) e
(3) waw

(4  Faa

[Question ID =
1. 1

(A). (B) 77 (D)
(A), (B) 31 (E)
(C). (D) 7 (E)

(B). (C) =1 (D)

1552][Question Description = Q49_CSR_SHAAN_20NOV21_S1_Shift1]

[Option ID = 6205]

2.2

[Option ID = 6206]

3.3

[Option ID = 6207]

4. 4

[Option ID = 6208]



50) Read the following and identify the substance in Jainism

(A) Jiva
(B) Ajiva
(C) Asrava
(D) Nirjara
(E) Kala

Choose the correct answer from the options given below:
(1) (A), (B) and (D) only
(2) (A), (B) and (E) only
(3) (C), (D) and (E) only
(4) (B), (C) and (D) only

A) =
B) =
(C) ==
D) =
(E) =

Hi f3u U fasheql @ ® @ 3 0 =4 i

(1) === (A), (B) ¥ (D)
(@) T (A), (B) 57 (E)
(3) A= (C), (D) 31 (E)

4)  =FaF (B), (C) 7R (D)

[Question ID = 1553][Question Description = Q50_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6209]
2.2

[Option ID = 6210]
3.3

[Option ID = 6211]
4. 4

[Option ID = 6212]

>1) Read the following and identify the texts written by Acaryakundakunda :

(A) Samavasara
(B) Trilokasara

(C) Aradhanasara
(D) Nivamasara

(E) Pravacanasara



Choose the most appropriate answer from the options given below :

(1)  (A). (B) and (C) only
(2)  (A). (0) and (E) only
(3)  (A). (D) and (E) only
(4 (B).(C) and (D) only

(A) FEEER
B) TR
(C) AR
(D) fFETEm

(E) MEERLI

H T2 7o fahedi § & H9E U ST H =E A0

1) FF (A), B) = (©)
@ = (A). () 3 (B)
3 A (A). (D) 3 (B)
(4) === (B). (C) w1 (D)

[Question ID = 1554][Question Description = Q51_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6213]
2.2

[Option ID = 6214]
3.3

[Option ID = 6215]
4. 4

[Option ID = 6216]

52 : ] : = s
) Identify the correct statements with reference to the meaning of ‘Anekantavada’ in

Jainism.

(A) The view of theoretical synchronization.

(B) The existence of doubt in things

(C)  The existence of continuous change in things
(D) The existence of innumerable qualities in things

(E)  The existence of opposite qualities

Choose the most appropriate answer from the options given below :

(L (B) and (C) only
(2)  (C) and (D) only
(3) (A, (B) and (C) only
(4) (&A). (D) and (E) only




Ul S S B B2 Sl b Bt e b T L e s DN s S B A L S e |t e & B T B L & Bl R}

(&) =i TR g

(B) =% W HuEans i g

(C) =g W Taweat ufada i e

(D) =g = Tl w

(E) T amr = o=

= feu T fasedl 0 @ HeE 39 ST o WA I
(1) == (B) 317 (O)

2 A (C) 3R (D)

(3  FA (A), (B) 3 (C)

(4) T (A), (D) 31 (B)

[Question ID = 1555][Question Description = Q52_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6217]
2.2

[Option ID = 6218]
3.3

[Option ID = 6219]
4. 4

[Option ID = 6220]

53) Identify the following statements with reference to Anagarika Dharmapala

(A) Foundation of Mahabodhi society of India

(B) Foundation of Brahmo Samaj

(C) Foundation of Asiatic society

(D) A citizen of Srilanka Don David Havavitarane changed his name in 1881

(E) Foundation of Bengal Buddhist Assciation in 1892

Codes:

(1) (A),(B) only
(2) (A), (D) only
(3) (B),(C) only
(4) (D), (E) only

FATIC 99U % g2 | FHefoliEn ar i TEEE o

(A)  HeErEita GETEd s
(B) @& THIF =l FO
(C)  uRmtes T2l =hi T

(D)  ierRrE AFTeE S S sEEae 3 1881 § W7 AE "ae o

(E) 1592 ¥ sATel §iZ8 UAIRIO =l T3]



A 168 T =hedl H 8 Sl 391 =l =4 =i

(1) =4 (A). (B)
(2) =4 (A). (D)
(3) === (B). (C)

4 == D). (E)

[Question ID = 1556][Question Description = Q53_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6221]
2.2

[Option ID = 6222]
3.3

[Option ID = 6223]
4. 4

[Option ID = 6224]

54) Identify the Buddhist canonical literature categorized in vinayapitaka
(A) Khandhaka

(B) Dhamma Sangani

(C) Parivara

(D) Mahavagga

(E) Yamaka

Choose the correct answer from the options given below :
(1) (A), (B), (C) only

(2) (A), (B), (D) only

(3) (A), (C), (D) only

(4) (A), (B), (E) only

ATg o9 AiEea F fEiTzF | FiiHa Fieed = Te=E A

(A) THF
(B)  wEmEETR
(C) l@Emw
D)  He=T
(E) =9%

= fau o fawedi § | w9 3 1 =99 A

(1)  F== (A). (B). (C)
2 w4 (A). (B). (D)
(3)  F (A). (O). (D)
4w (A). (B). (B)

[Question ID = 1557][Question Description = Q54_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6225]
2.2

[Option ID = 6226]
3.3



[Option ID = 6227]
4. 4

[Option ID = 6228]

55) Read and find out the first group of the pre-exilic Hebrew prophets before 700 B.C.
(A) Amos

(B) St. Paul

(C) St. Jacob

(D) Hosea

(E) Isiah

Choose the correct answer from the options given below :
(1) (A), (D), (E) only

(2) (A), (B), (C) only:

(3) (B), (C), (D) only

(4) (C), (D), (E) only:

ufgu Hi 700 6T T4 @ TR % TAE-Td % TEeE A (W62H)  UUH GHE i TEEiA

(A) amE
B) FHe A
(C) Tz A=A
(D) =i
(E) i

Hra fou U faedi 6§ TR IO 1 == i

()  Fa9 (A), (D) 7 (E)
(2  Fa (A). (B). (C)
(3)  Fa= (B), (C), (D)

(4)  Fa4 (C), (D), (B)

[Question ID = 1558][Question Description = Q55_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6229]
2.2

[Option ID = 6230]
3.3

[Option ID = 6231]
4. 4

[Option ID = 6232]

56) Identify the chief festivals of Judaism.

(A) Festival of Unleavened bread

(B) Easter

(C) Festival of Harvest

(D) Bakrid

(E) Festival of Shelters

Choose the correct answer from the option given below :

(1) (A), (B) and (D) only



(2) (A), (C) and (E) only
(3) (B), (C) and (E) only
(4) (A), (B) and (C) only

(A)  =EEER ¥T F AR
B) =

(C)  Ee =1 ER
(D) ==iE

i T o SR

(E)  @mfsai (Fre28) F1 =ER

= fou v faweul 4 9 wE 3 %1 99 iAo

1)  F= (A). (B) 31 (D)
(@) 99 (A), (C) 41 (B)
(3) A4 (B). (C) 31 (E)

@)  FAE (A). (B) A (C)

[Question ID = 1559][Question Description = Q56_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6233]
2.2

[Option ID = 6234]
3.3

[Option ID = 6235]
4. 4

[Option ID = 6236]

57) ldentify some of the old Testament Canon
(A) Romans

(B) Acts

(C) Deuteronomy

(D) Joshua

(E) Psalms

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (C), (D) and (E) only

(3) (B), (C) and (D) only

(4) (A), (C) and (E) only

(A) TmE



LB et el

(E) H

Fi= fou v faewt A O OE 3 1 = i

(1)  F3 (A). (B) = (C)
2 ¥ (0). (D) 3% (E)
(3)  Fa (B). (O) #i (D)
4  FF(A), () = (B)

[Question ID = 1560][Question Description = Q57_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6237]
2.2

[Option ID = 6238]
3.3

[Option ID = 6239]
4. 4

[Option ID = 6240]

58) Identify the disciples who witnessed the transfiguration of Jesus on Mount Tabore:
(A) St. Thomas Apostle

(B) St. Peter Apostle

(C) St. James Apostle

(D) St. John Apostle

(E) St. Francis Assisi

Choose the correct answer from the option given below :
(1) (A), (B), (C) only

(2) (B), (C), (D) only

(3) (€), (D), (E) only

(4) (B), (D), (E) only

(A) e "iEg I
B)  He T i
(C) Tz 7 e
(D) #z 7 uHifee

(E) ez wiug iy

= fou U el d @ GEl I %1 99 iAo

() a7 (A). (B). (C)
(2) === (B), (O). (D)
(3) === (C). (D). (E)

(49 Fa9 (B). (D). (E)



[Question ID = 1561][Question Description = Q58_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6241]
2.2

[Option ID = 6242]
3.3

[Option ID = 6243]
4. 4

[Option ID = 6244]

59) Identify the two great religious leaders of the Jewish exile period (586-539 B.C.)
(A) David

(B) Solomon

(C) Rehoboam

(D) Ezekiel

(E) Isiah

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (D) and (E) only

TAE-FE (586-539 £.9.) F 37 GEM GHMITER i TEEH A0

R et

A =
B) T
‘: C) p\ o

(D)  urEEA

(E)  wmstaa
Hr9 20 v faeul @ § TeE IUgE I B0 99 HIA

(1)  F== (A). (B)
2 = (B), (O)
(3 %A= (0). (D)
4)  F== (D). (B)
[Question ID = 1562][Question Description = Q59_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6245]
2.2

[Option ID = 6246]
3.3

[Option ID = 6247]
4. 4

[Option ID = 6248]

60) Identify the chief Christian churches
(A) Shia
(B) Catholic



(C) Sunny

(D) Orthodox

(E) Protestant

Choose the most appropriate answer from the options given below :
(1) (A), (B), (C) only
(2) (B), (C), (D) only
(3) (B), (D), (E) only
(4) (C), (D), (E) only

@A

B)  Fuifers
© ==

(D) T
(E) dewE

Hr fou o fashedl # © wEE U I R AIA HIAY

(1
(2)
3)

4

Fa4 (A), (B). (C)
Fa= (B). (C). (D)
Fa9 (B), (D). (E)

Fa4 (C), (D). (E)

[Question ID = 1563][Question Description = Q60_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6249]

2.2

[Option ID = 6250]

3.3

[Option ID = 6251]

4. 4

[Option ID = 6252]

61) Of the following statements find the correct ones

(A) The most brilliant period of Baghdad was during the caliphate of Harun al-Rashid

(B) Hunayn ibn Ishaq was a Nestorian Christian and was the Sheikh of Translators

(C) The third caliph of the Abbasids was al-Hadi

(D) Imam Abu Yusuf died in the year 788 A.D.

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A), (B) and (C) only
(3) (C) and (D) only

(4) (A) and (C) only

= fou Mo Fe F wWEE

(A)

TR 1 960 37291 oF @alFl oA Aa—T90% 1 EaTsd 5 a1



(B) 7 31 SHETE S2IEA SATS AT HT geizd IR 1

(C)  ZFearl =1 1T TRl 39 261 e

(D) =W ¥ IgF F H¥A 788 3. ° 7

= Tou U e | O HE 3 R =E e

(1) e (A) 37 (B)
(2) e (A), (B) #E(C)
(3) a1 (C) ¥ (D)
(4)  Fae (A) 3 (C)

[Question ID = 1564][Question Description = Q61_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6253]
2.2

[Option ID = 6254]
3.3

[Option ID = 6255]
4. 4

[Option ID = 6256]

62) The following are some famous personalities along with their year of death. Select the incorrect ones
(A) al-Nasai - d.815

(B) Abu Dawud - d.888

(C) al-Tirmidhi - d.892

(D) Ibn Majah - d.915

(E) Ismail al-Bukhari - d.810

Choose the correct answer from the options given below :
(1) (A) and (B) only

(2) (A), (B) and (C) only

(3) (A), (D) and (E) only

(4) (C) and (D) only

() ¥ TEE - g 81
(B) 9> - §g 888
(C) o= faiE - g7g 892
(D) 3= A1 - geg 915

(E) =¥t 31 @i - 97 810

H= fau o fawedt 4 O T8 3 & 999 Fian

(1) 9= (A) R (B)
(@) = (A), (B), (C)
(3)  Fa4 (A), (D) 31 (E)

4y === 0 3T D)



[Question ID = 1565][Question Description = Q62_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6257]
2.2

[Option ID = 6258]
3.3

[Option ID = 6259]
4. 4

[Option ID = 6260]

63) Consider the following statements and identify the correct ones.

(A) Murji’ites arose in the Umayyad period. They did not declare as infidels those believers who committed sins

(B) Of the six Canonical books of Hadith the number of Sahih books are two

(C) The commentary of the Quran ‘Tafsir al-Quran’ was written by Maulana Abul Kalam Azad.

(D) Shah Waliullah died in the year 1791 A.D.

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (A), (B) and (C) only

(3) (A), (C) and (D) only

(4) (C) and (D) only

F=teAtEe ®omi ° @ w8 F =9 it

(A)  "iEE Suel FeT H I, 3 AN B AGE T2 Ha A FEE A

(B) =M I © FAIHA sl § 4 51 Jel 7

(C) W 1 A T5E1 9 A 57 F4H 2, HieTH 160 Feld ATE A ol 2

(D) = TeiisgE i geg 1791 5. § &3
Hr Tu T e § @ Ted S I S =9A i

(1) 3= (A) 37 (B)
(2) a4 (A), (B) 311 (C)
(3)  F=FA (A). (C) 31 (D)

(4)  Fad (C) R (D)
[Question ID = 1566][Question Description = Q63_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6261]
2.2

[Option ID = 6262]
3.3

[Option ID = 6263]
4. 4

[Option ID = 6264]

64) From the following statements identify correct ones.

(A) Puratan janam Sakhi is related to Guru Nanak

(B) Sachi Sakhi is related to Guru Nanak

(C) Janam Sakhi Bhai Bala is related to Guru Nanak

(D) Bhai Mani Singh Wali Janam Sakhi is related to Guru Nanak



(E) Sau Sakhi is related to Guru Nanak

Choose the correct answer from the options given below :
(1) (A), (C), (D) only
(2) (A), (B), (D) only
(3) (A), (C), (E) only
(4) (A), (B), (C) only

freafeafiga § o @21 HAT 1 wgaH Fifaw

(A)  TEA T Wl TAEE J TaEd 7

(B) = At T A F waEtad 2

(C) =9 |l 972 &TeAl % TF | Hatad 2|

(D) TS wHt e Al S @ W AeE E et 2
(E) =t =l 7% A © et 2|

Fr= fou o fashewt 4 9 T 3 = iAo

(1)  F= (A). (O). (D)
(2)  F= (A). (B). (D)
3  F (A (O). (B)
(4  FF(A), (B). (O

[Question ID = 1567][Question Description = Q64_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6265]
2.2

[Option ID = 6266]
3.3

[Option ID = 6267]
4. 4

[Option ID = 6268]

65) As per Rahit maryada a sikh is person who believes in

(A) One God

(B) Ten Gurus

(C) Worships of gods

(D) Guru Granth Sahib

(E) Believe in any other religion

Choose the correct answer from the options given below :

(1) (A), (B), (E) only
(2) (A), (B), (D) only
(3) (B), (C), (D) only
(4) (C), (D), (E) only

&) TFTE

B) =@ T



(©

D)

(E)

Jre feu o fasedi § @ =E1 3T 1 9E HiAw

(1)
(2)
(3)

4

TE T HIEE

Tt 1= wd

Fa= (A). (B). (E)
Fa (A). (B). (D)
#Fa (B). (C). (D)

a4 (). (D). (B)

[Question ID = 1568][Question Description = Q65_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6269]

2.2

[Option ID = 6270]

3.3

[Option ID = 6271]

4. 4

[Option ID = 6272]

66) Match List | with List Il

(A)
(B)
©
(D)

List |
Paul Tillich
Mircea Eliade
W. Cantwell Smith
John Hick

List Il
) Patterns in Comparative Religion
() Faith and Knowledge
() Dynamics of Faith
(IV) The Meaning and End of Religion

Choose the correct answer from the option given below :
(A)-(lln, (B)-(1), (C)-(IV), (D)-(1)
(A)-(Iv), (B)-(l), (C)-(h, (D)-(11)
(A)-(ID), (B)-(1n), (C)-(h, (D)-(1V)
(A)-(lln, (B)-(1), (C)-(IV), (D)-(11)

(M
(2)
3)
(4)

-1 & g1 g=t-I1 = g Fif

&)

(B)

(©)

-1
e Tafer=

T, Theede Y

(D) = &

= f2u T e 5 | wE I F =9 Fi

(1)
2)
(3)

(A)-IID), (B)-(ID), (C)-(IV). D)-(D
(A)-(IV). (B)-(ILD). (C)-(D). (D)-aD)
(A)-(II), (B)-(IID), (C)-(D. (D)-(IV)

T=I-IT

@ Uz = waifen fifers

(I 9 v T
(II) SEATHF #ATF 79



@  A-dID, (B)-@. (C)-IV). (D)-ID)

[Question ID = 1569][Question Description = Q66_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6273]
2.2

[Option ID = 6274]
3.3

[Option ID = 6275]
4. 4

[Option ID = 6276]

67) Match List | with List Il

List | List Il
(A) The Idea of Holy ()  William James
(B) Primitive Culture () James G. Frazer
©) '!'he Varieties of Religious (Il E.B. Tylor
Experience
(D) The Golden Bough (IV) Rudolf Otto

Choose the correct answer from the option given below :
(M (A)-), (B)-(h, (C)-(1V), (D)-(li)
(2)  (A)-(V), (B)-(ln), (C)-(1), (D)-(IN)
(3)  (A)-(V), (B)-(lln), (C)-(1), (D)-(1)
(4 (A)-(D, (B)-(IV), (C)-(1n), (D)-(In)

TeAI-I F Ty G-I % frems i
T-I -1
(&) Z AN ATE B @O  forferm e
(B)  TofHiea o= D) v S F
(C) = el ATF s TrEmiE (IIT) 5.5, 2o,
(D) = Tesa = (IV) #=e% A

= 2o faweat § | T8 3w wEe Fif

(1 A-aD. B)-). (C)-AV). (D)-(IID
(2  (A)-aV). (B)-(1D). (C)-(D). (D)-(ID)
(3)  (A)-AV). (B)-(ID). (C)-aD). (D)-(D
@ (A-D,. (B)-IV). (C)(I1I). (D)-(II)

[Question ID = 1570][Question Description = Q67_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6277]
2.2

[Option ID = 6278]
3.3

[Option ID = 6279]
4. 4

[Option ID = 6280]



68)

Match List I with List IT

(&)
(B)
©
(D)

List I
Non-Dualism
Qualified Monism
Dualism

Dualism cum Non-Dualism

List IT
(). Ramanuja
(II) Madhvacarya
(III) Vallabhacarya

(IV) Sankaracarya

Choose the correct answer from the option given below :

D (A)-aD, B)-IV). (C)-(I10). (D)-(D
2  A-@. B)-dID). (C)-aV). (D)-D
(3) (A)-(IV). (B)-(D). (O)-(1I), (D)-(IID)
(4  (A-IID. (B)-II), (C)«I). (D)-(IV)
-1 F w1y g1 7 faerm Fifm
i1

(A) sTgEER

®) =g

(C) z@am

(D) zAnEFam

Hr fou o fashedl 9 © HE 3 1 =EA AT

(1)
(2)
(3)
(4)

(A)-(ID), (B)-IV). (C)-(I1D). (D)-(D)
(A)-(D). (B)-(IID). (C)-(AV). (D)-(1D)
(A)-(IV). (B)-(D). (C)-(IL). (D)-(I1I)
(A)-(1ID), (B)-AD), (C)-(D. (D)-IV)

(I HEA
(ID) =
(IIT) =T

[Question ID = 1571][Question Description = Q68_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6281]

2.2

[Option ID = 6282]

3.3

[Option ID = 6283]

4. 4

[Option ID = 6284]

69)

Match List T with List IT

(&)

(B)

(©

ListI

Worship place of the Gommateévara

List IT

(D  Aausadhi

Salvation place of the 20 dJain (II) Jainism

Tirthankaras
God 1s not creator of the world

L i

(III) Shravanabelagola

g I o o S W



b e’ S e i ook 11V ) oamnimeda- olEnara

Choose the correct answer from the option given below :

(1 A)-aV). (B)-aID). (C)-D). (D)-(ID)
2 A-D. (B)-AV), (O)-(aD). (D)-(I1I)
(3  @-d). B)-@. (C)-aAV). (D)-(I1D
(49  (A)-dD, (B)-aV). (O)-aD. (D)-(D

TeAI-1 % =1y G-I 1 faems i

=1 i
(A)  TTEETER i gid F g T @ sy
(B) 20 def=ai % mE-miE w1 =E D Fe
(C) v TET w1 gEl 7 2| (AIl) YavTserTaT
(D) =M V) =z foma

Jr= f3u o fasel 3 | A 3w =E i

(1) (A)-(IV), (B)-(I1D). (C)-(D). (D)-(ID)
(2) (A)-(D. (B)-IV), (C)-(ID), (D)-(IIT)
(3) (A)-dD), (B)-(I). (C)(IV). (D)-(ILL)
(4) (A)-(II), (B)-(IV). (C)-I). (D)-(D)
[Question ID = 1572][Question Description = Q69_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6285]
2.2

[Option ID = 6286]
3.3

[Option ID = 6287]
4. 4

[Option ID = 6288]

70) Match List | with List Il

List | List Il
(A) Dhammapada () U-Chan
(B) Tibetan Script ()  Sanskrit
(C) Ashokan Edicts (i) Pali
(D) Saddharmapundarika (Iv) Brahmi

Choose the correct answer from the options given below :
(1) (A)-(I), (B)-(IV), (C)-(1), (D)-(1)
(2)  (A)-(lm), (B)-(D, (C)-(1V), (D)-(I)
(3)  (A)-(IV), (B)-(ID), (C)-(1n), (D)-(1)
(4)  (A)-(D, (B)-(IN, (C)-(1n), (D)-(IV)

-1 % =9 g=-I1 1 faems fifsm

eI TT-IT



(A) T9HI3 I  3-=4

(B) fosadl feafa D) =
(C) #A7F % Alaeng (II) wife
(D) TZHUEF av) s

Ji= fou v fasew A 9 9E I w1 = i

(1) (A-D), (B)-(IV). (O)-I1ID). (D)-(I)
(2  (A)-dID). (B)-d). (C)-AV). (D)-(1I)
(3)  A-AV). (B)-d). (OAIID). (D)-(D
@ (AQ-D. B)-II). (C)-(II). (D)-(IV)
[Question ID = 1573][Question Description = Q70_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6289]
2.2

[Option ID = 6290]
3.3

[Option ID = 6291]
4. 4

[Option ID = 6292]

71) Match List | with List Il

List | List Il
(A) Constantine 0) Goa
(B) Pope John XXIlI (1)  Hyppo
(C) St. Augustine (1) 2"d vaticon Council
(D) St. Francis Xavier (IV) Nicea Council

Choose the correct answer from the options given below :
(1) (A)-(D, (B)-(IN), (C)-(in), (D)-(IV)
(2)  (A)-(I, (B)-(lln), (C)-(IV), (D)-(1)
(3)  (A)-(IV), (B)-(1), (C)-(I), (D)-(1)
(4)  (A)-(lm), (B)-(IV), (C)-(1), (D)-(I)

-1 % = g=-11 =1 faere it
-1 F=-11
(&) T @® T
(B) w9 w4 XXIII (In faw
(C) e AT (1) o =tz et

Fr= fou o fahea @ 9 wE 3 R == i

(1 A-@. B)-d1), (C)-a1I), (D)-(IV)
() (AV-(ID. (BYy-(IID. (CYy-(TV. (TH-(D



(3  (@-aV). (B-{D. (O)-aD. O)-0
4 (&)-ID. B)-aV). (O)-D. (D)-aD

[Question ID = 1574][Question Description = Q71_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6293]
2.2

[Option ID = 6294]
3.3

[Option ID = 6295]
4. 4

[Option ID = 6296]

72) Match List | with List Il

List | List Il
(A) Thomas A Kempis ) Spiritual Exercises
(B) St. John () Confessions
(C) St. Augustine (Ill) Book of Revelation
(D) St. Ignatius Loyala (IV) Imitation of Christ

Choose the correct answer from the option given below :
(1) (A)-(D, (B)-(IN), (C)-(In), (D)-(IV)
(2)  (A)-(IV), (B)-(1), (C)-(I), (D)-(1)
(3) (A=, (B)-(ln), (C)-(1V), (D)-(1)
(4)  (A)-(1m), (B)-(IV), (C)-(), (D)-(IN)

A1 % = eI e i
I 111
(A) 9mE U, FHIE O wfigss v
(B) =z wiA (I  F=Form
(C) ez A (II) =% =% faEreTm
(D) =2 R e (IV) zfeem a7 FEe=

Fi= f3u U fase 8 | " IR =4 i

(1)  (A)-O. (B)-AD. (C)-(II). (D)-(IV)
(2) (A)-(IV), (B)-(IID), (C)-(ID). (D)-(D
(3) (A)-dI), (B)-(1II), (C)-AV). (D)D)
(4) (A)-ID), (B)-(IV), (C)-(D). (D)-(ID)
[Question ID = 1575][Question Description = Q72_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6297]
2.2

[Option ID = 6298]
3.3

[Option ID = 6299]
4. 4

[Option ID = 6300]



73) Match List | with List Il

List |

(A) Mount Gerisim

(B) Mount Sinai

(C) Mount Calvary

List Il
()  Transfiguration of Jesus
(1)  Crucifixion of Jesus

(lll) Ten commandments

(D) Mount Tabore (IV) Samaritan temple

Choose the correct answer from the option given below :
(1) (A)-(D, (B)-(IN), (C)-(1n), (D)-(IV)
(2)  (A)-(I), (B)-(llN), (C)-(IV), (D)-(1)
(3)  (A)-(ln), (B)-(IV), (C)-(1), (D)-(I)
(4)  (A)-(IV), (B)-(1), (C)-(I), (D)-(1)

T=-1 = w1y g-11 = e i
T-E:ﬁ-I q_—tﬁ-II
(A) =1Ez Wi (D) =omHE = afEmfad =
(B) =z T (1D TEEERE T OAE W TR
(C) =SE Ferl (II) =7 swam s
(D) =2 ZAn (IV) =wfr A

= fou v faseul § © wE 3 #1999 FiAu

(L A-O. (B)-dD). (C)-(1ID. (D)-(IV)
(2  A-dD. B)-aID), (C)-av). (D)-@
(3)  (A)-dD. (B)-AV). (C)-(D). (D)-(ID
@  (A-aOV). (B)-(II), (O)-1ID). (D)-(D

[Question ID = 1576][Question Description = Q73_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6301]
2.2

[Option ID = 6302]
3.3

[Option ID = 6303]
4. 4

[Option ID = 6304]

74) Match List | with List I
List | List Il
(A) Ahkam-al-Sultaniyya ) Nizam ul-mulk Tusi
(B) Siyar ul-Muluk ()  Mir Sayyid Ali Hamadani
(C) Adab-ul-Muluk () Sadid ud-Din Muhammad Aufi
(D) Zakhirat-ul-Muluk (IV) Abu al-Hasan al-Mawardi
Choose the correct answer from the options given below :

(1) (A)-(D, (B)-(IN), (C)-(ln), (D)-(IV)

(2)  (A)-(1m), (B)-(I), (C)-(IV), (D)-(1)

(3)  (A)-(IV), (B)-(D), (C)-(11), (D)-(11)



(4)  (A)-(), (B)-(), (C)-(ln), (D)-(IV)

-1 F = F=-I1 1 oo i
-1 11
(A) FEFM 3T gear () Fememe T
(B) TR e gepF D) R H9g el e
(C) =AmE 3 go9F (IIT) ==i5 F5M GEemg AT
(D) a3 g% (IV) 9 8 ATl

Hi= 50 T faeal § ° HE 3 F 94 B

(1) (A)-(I). (B)-(I1). (C)-(I1I). (D)-(IV)
(2) (A)-(IID). (B)-(II). (C)-(IV). (D)-(D
(3) (A)-(IV). (B)-(I). (C)-(I1I). (D)-(II)
(4) (A)-(IL). (B)-(I). (C)-(III). (D)-(IV)
[Question ID = 1577][Question Description = Q74_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6305]
2.2

[Option ID = 6306]
3.3

[Option ID = 6307]
4. 4

[Option ID = 6308]

75) Match List | with List Il

List | List Il
(A) Guru Nanak ) Bibi Bhani
(B) Guru Ramdas ()  Mata Gujri
(C) Guru Arjan (lll) Mata Sulakhani
(D) Guru Tegh Bahadur (IV) Mata Ganga

Choose the correct answer from the options given below :
(1 (A)-(1n, (B)-(1), (C)-(IV), (D)-(IN)
(2)  (A)-(), (B)-(IV), (C)-(1), (D)-(li)
3)  (A)-(D, (B)-(I), (C)-(li), (D)-(IV)
(4)  (A)-(1m, (B)-(I), (C)-(1), (D)-(IV)

i1 & =y -1 1 faem i
I FA-IL
(&) A (M i
(B) T TEEH (D) =& T

(C) % A (IIT) =T germa

ATy e e STETN e



AF AT AT TR LT B LA LB L

4= f2u T fameal 5§ B8 3 # = Fia

(1) A)-dID. (B)-@. (C)-IV). (D)-AD)
2 (A)-dD. (B)-AV). (C)-D). (D)-(11I)
3  A-D. (B)-AD. (O-IID. (D)-(IV)
4 (A-dID, (B)-dI), (C)-D). (D)-(IV)

[Question ID = 1578][Question Description = Q75_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6309]
2.2

[Option ID = 6310]
3.3

[Option ID = 6311]
4. 4

[Option ID = 6312]

76) Arrange how R.N. Bellah identifies five stages of human civilization from earlier to latest
(A) Historic

(B) Archaic

(C) Primitive

(D) Early modern

(E) Modernv Choose the correct answer from the options given below :

(1) (C), (B), (A), (D), (E)

(2) (A), (B), (D), (C), (E)

(3) (B), (C), (A), (D), (E)

(4) (A), (C), (B), (D), (E)

T, ST g WA HEIAT i UE FEEIH] il URel § W18 6 HH o Feiead #i

(&)  wffEEE
(B) T
(C) ==
D) @ A
(E) gl

= fou o faweui d § G 3T F1 == i

(1) (©). (B). (&), (D). (E)
2 (@) B). D). (). (E)
(3 (B). (C). (A). (D). (E)
4 (@) (). (B). (D). (E)

[Question ID = 1579][Question Description = Q76_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6313]
2.2



[Option ID = 6314]
3.3

[Option ID = 6315]
4. 4
[Option ID = 6316]

77) Arrange the following philosophers chonologically from early to later period

(A) Ramanujacarya

(B) Charitanyamahaprabhu
(C) S'af]karﬁcﬁrya

(D) Aravinda

(E) Madhvacarya

Choose the correct answer from the options given below :

D (A). (C). (B). (D). (E)
@ (0. ). (E). (B). (D)
3 (D). (B). (C). (E). (&)
4 (B). (E). (D). (A4). (C)

Frfefias =9 =i 7% FIFAAER T T ®E F w0 0 ¢

(&)  THEEET=EE
B) =HdvEEmTYg
(C) wF=H
@)

(E) HIEAT=TH

= o o faet 4 B w8 3 = = Fifaw

1) (A (©). (B). D). (E)
2) (O, (A). (E). (B). (D)
3 (D). B).(C). (E). &)
4 ®. (E.D).A.©
[Question ID = 1580][Question Description = Q77_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6317]
2.2

[Option ID = 6318]
3.3

[Option ID = 6319]
4. 4

[Option ID = 6320]

78)
Arrange the following in choronological order from the earliest to latest

(&) Hemacandra

(B) Yasovijaya



(C) Vattakera
(D) Dharasenacarva

(E) Haribhadrasur

Choose the correct answer from the options given below :
1 @) (©). (B) (E). D)
2 D). (). E), @A), B
(3) (B). (D). (A). (C). (E)

4)  (B). (O). (E). (D). (A)

feAfefEa #1 FOFHER TP O o= A2 F F9 § gEEad #w

@
B) =i
€ TEm

(D)  EHAEE
(E) wfwemR

4= fau U et |9 9 wE1 I o =9 I

(1) (A). (C). (B). (E). (D)
(2) (D). (C). (E). (A). (B)
(3) (B). (D). (4). (C). (E)

@  (B®. (C).(E). D). &

[Question ID = 1581][Question Description = Q78_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6321]
2.2

[Option ID = 6322]
3.3

[Option ID = 6323]
4. 4

[Option ID = 6324]

79) Arrange the following in chronological order (as per recoganise Arga canons)

(A) Bhagavatisutra
(B) Drstivada
(C) Kcﬁrﬁngasﬁtra

(D) Jnatadharmakatha

(E) Prasnavyakarana

Choose the correct answer from the options given below :

1 (A). (O). (D). (E). (B)



@ (O (D). (B). (E). (4)
(3 (B). A).(C). (D). (E)
4 (O. A). D). (E). ®B)

FrAfeiaa = FIewaEan GHEtad w1 ; (T o7 TR F F9 H)

(A)  TTEEET
B) zfEE
(C)  wA=mrTEA

P

(D)  STaTgHEERE

(E) EEEESIEY]

= fau o fasedt # & TE S o = Hifu

(1) @). (C). (D). (E). (B)
2) (). D). (B, (E). (A)
) (B). ). (C), (D). (E)
4 (0. A). (D). (E). (B)

[Question ID = 1582][Question Description = Q79_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6325]
2.2

[Option ID = 6326]
3.3

[Option ID = 6327]
4. 4

[Option ID = 6328]

80) Arrange the following in chronological order from earlier to later
(A) Discovery of Sarnath Pillar by Oertel

(B) Discovery of Ajanta caves

(C) Discovery of First rock edict in Girnar by James Todd
(D) Discovery of Sanchi stupa by Alaxander Cunningham
(E) Discovery of Small rock edict by Carlylle

Choose the correct answer from the options given below :
(1) (B), (C), (D), (E), (A)

(2) (A), (B), (C), (D), (E)

(3) (D), (B), (C), (E), (A)

(4) (E), (A), (C), (B), (D)

F=Aifehe i 9eet H W18 % oA § SHaiad #i
(A)  HATES g =R = o =@
(B) 3= TE I @

(C) =9 7z 3/ AR 4 vre e #i @

Ty ajﬁm‘}mmﬁ:ﬁm:ﬁrjﬁ



Ay TR TR TR RN SR CNEETER VAT TR, ey Y

(E)  fered gRT1 32 s i |

= fau o fawewi 4§ w2 3 #1 ==A i

1) (B). (O). (D). (E). 4)
@  @A). B)(C). (D). (E)
3 (D). B). (©). (E). 4
@  (E). A (C), (B). (D)

[Question ID = 1583][Question Description = Q80_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6329]
2.2

[Option ID = 6330]
3.3

[Option ID = 6331]
4. 4

[Option ID = 6332]

81) Arrange the Christian saints in chronological order (from early to later)
(A) St. Chavara Kurikose Elias

(B) St. Ignatius Loyala

(C) St. Thomas Aquinas

(D) St. Augustine

(E) St. Paul the apostle

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E)

(2) (E), (D), (C), (B), (A)

(3) (B), (C), (D), (E), (A)

(4) (C), (D), (E), (A), (B)

frefefiaa £at @al #1 Use § 918 = Hlewd § sy #
(A) = =S S e

(B) =z THfiEw S

(C) 2 99" uEhHE

-

(D) e HAILEA

(E) o2 i g udiEe

Hi= fov o faweul 4 @ @E 3 # 9EA iAo

(L (@A (B). (C). (D). (E)
2 (B, D.©).B).A
3 (B). (C). (D). (E). (A)

(4) (C). (D). (E), (A). (B)

[Question ID = 1584][Question Description = Q81_CSR_SHAAN_20NOV21_S1_Shift1]



1.1

[Option ID = 6333]
2.2

[Option ID = 6334]
3.3

[Option ID = 6335]
4. 4

[Option ID = 6336]

82) Arrange the ecumenical council in chronological order:
(A) First council of Constantinople D

(B) Council of Calcedon

(C) First council of Nicea

(D) Council at Ephesus

(E) Second council of Nicea

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E)

(2) (B), (), (D), (E), (A)

(3) (C), (A), (D), (B), (E)

(4) (D), (E), (A), (B), (C)

Frfertiga wifies wfEl 1 759 3 9 91 T F FEEAgEn Satead w7
(A)  FEgTaE F TR gig

® e i

(C) i #1 TEelt afg

(D) e f g

(E)  ifemn &1 gt g

= fau o famewl 4 O @E 3 #1099 FifAu

1)  @A. ®B.(C). D). (E
2  (B). (0. D). (E).A
3  (©). A). D). ®). E)
4 (D). E).A.®. O

[Question ID = 1585][Question Description = Q82_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6337]
2.2

[Option ID = 6338]
3.3

[Option ID = 6339]
4. 4

[Option ID = 6340]

83) Arrange the old Testament personalities in the chronological order (from early to later)
(A) Moses

(B) David

(C) Isaac



(D) Jacob

(E) Abraham

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E)

(2) (B), (C), (D), (E), (A)

(3) (©), (D), (E), (A), (B)

(4) (E), (C), (D), (A), (B)

= T a9 F = H UEe ¥ 91F % FemEIEn Saedg S|

(&) =EH
B) =@
(C) =um=
D)
(E) smed

4 fau o faeal 9 | = 3 = i

(1 (@A), 3. (). (D). (E)
(2) (B). (C). (D), (E). (A)
(3)  (C). D). (E). (A). (B)
4 (E). (C). (D). (A). (B)

[Question ID = 1586][Question Description = Q83_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6341]
2.2

[Option ID = 6342]
3.3

[Option ID = 6343]
4. 4

[Option ID = 6344]

84) Arrange the following Umayyad caliphs, chronologically according to their rule
(A) Yazid |

(B) Muawiyah II

(C) Muawiyah |

(D) Abd al-Malik

(E) Marwan |

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E)

(2) (C), (A), (B), (E), (D)

(3) (C), (A), (D), (B), (E)

(4) (A), (C), (D), (B), (E)

forerfefiam S TAERETS S WA % AT ST i

NI |



(B) g 11

(C)  gemfean I

(D) 1A A

(Ey #aEmI

Hr= fzu U e 8 | wE I = i

(1) (A). (B). (C). (D). (E)
(2)  (C). (A). (B). (E). (D)
(3) (C). (A (D). (B). (E)
4) (A). (C). (D). (B). (E)

[Question ID = 1587][Question Description = Q84_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6345]
2.2

[Option ID = 6346]
3.3

[Option ID = 6347]
4. 4

[Option ID = 6348]

85) Find out a correct sequence on the basis of Jap Ji
(A) Gyan Khand

(B) Dharm Khand

(C) Saram Khand

(D) Karam Khand

(E) Sach Khand

Choose the correct answer from the options given below :
(1) (B), (A), (D), (C), (E)
(2) (A), (C), (D), (B), (E)
(3) (A), (B), (C), (D), (E)
(4) (A), (C), (B), (D), (E)

9 S AGR 9 HE FH 6 =9E Fia

(A FRTETs
(B) gH TS

(C) wmaETs
D) FmaTs

(E) Hd "Ug

e fou U faeai 5 9 wE I 0 == i

(1 B). A). D). (). (E)
(2) (A (C). (D). (B). (E)



(3 (A, B). (), D). (E)

(4) (A), (C). (B), (D). (E)
[Question ID = 1588][Question Description = Q85_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6349]
2.2

[Option ID = 6350]
3.3

[Option ID = 6351]
4. 4

[Option ID = 6352]
86) Given below are two statements: One is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A) : An object known as totem, usually an animal or plant or its symbol, that a

clan or tribe views as a sacred ancestor

Reason (R) : Even in modern society some people worship their ancestors

In the light of the above statements, choose the correct answer from the options given below
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false
(4) (A) is false but (R) is true

f= 21 Fo9 Tm T F : oF ATTFE (Assertion A) F 9 ¥ fHf@d # 1 350 35F FW (Reason R) F

F‘I'El

ATF (A) 2/ WA AT 2 W STHAR W U 99, 9T J1 59 e B FE w9 @ e
AT T g A 7

F (R) : A S TS § i F A g g wd A

I YA ATF °, I B T FEeT 4 g wE S = R

(1) (A) ¥ (R) 3F 703 7 #7 (R), (A) F1 78 =me 2

(2)  (A) 3R (R)ZH1 @ 7, 04 (R), (A) F1 521 =m= 7 2
(3) (A)TEE, FFA (R) 79 7

4 (A) 3@ B, = (R) 979 &

[Question ID = 1589][Question Description = Q86_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6353]
2.2

[Option ID = 6354]



3.3

[Option ID = 6355]
4. 4
[Option ID = 6356]
87) Given below are two statements: One is labelled as Assertion A and the other is labelled as
Reason R
Assertion (A) : One who knows ‘Brahma’, he knows every thing.
Reason (R) : Knowing the cause, effects are known

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

fi= =1 F9F T30 U : UF AiuF9E (Assertion A) & %9 § fangd & H0 34 % @17 (Reason R) &

AR (A) S FR F A E, 97 B9 TD AGAE |
FAo (R) : FRI Tl A T HE A AU 96 F )

ITIF FUA F AT 4, = B e § ¥ gey Iug T F 9= i

(1) (A) 3 R) IH B # 3 (R). (A) F TE =0 2

(2)  (A) R (R) = TA F, w66 (R), (A) i wF = w2
8) (A)TAE, T R) AT 2

(4) (A=A T R, T R) TH R

[Question ID = 1590][Question Description = Q87_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6357]
2.2

[Option ID = 6358]
3.3

[Option ID = 6359]
4. 4

[Option ID = 6360]

88) Given below are two statements
Statement (I) : All tirthankaras of Jainism were human beings.

Statements (Il) : As according to Jainism the supreme knowledge can be achieved in human birth only



In the light of the above statements, choose the correct answer from the options given below
(1) Both Statement (I) and Statement Il are true
(2) Both Statement (I) and Statement Il are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement () is false but Statement (ll) is true
Fo1 (D) : 59 96 § T dide g 9

Foa (1D : IR S 9H = ATER HAA TH A" T4 J T R S aear 2

IWEIF FUF F A 4, T 7 e O o of 3w =5 fif

(1) == (D) A (1) 241 =ed &
(2) = (D) 3 (1) 3H1 /@ #
(3) = (I) ¥ca 2, withA = (1) 519 2

(4) w9 (I) A5 2, =i w9 (1) 59 2
[Question ID = 1591][Question Description = Q88_CSR_SHAAN_20NOV21_S1_Shift1]

1.1

[Option ID = 6361]
2.2

[Option ID = 6362]
3.3

[Option ID = 6363]
4. 4

[Option ID = 6364]
89) Given below are two statements: One is labelled as Assertion A and the other is labelled as
Reason R
Assertion (A) : The gospels of St. Mathew, St. Mark and St. Luke are called “Synoptic gospels”.
Reasons (R) : These first three gospels of the Bible have more or less common contents

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Hr 21 o fag U 2 U AU (Assertion A) F ®9 1 fifigd & a1 290 5% FE0 (Reason R) % #9 1§



SFH (A) : Tz Ay, 62 A AT 52 ogF & gEATEn EHifEs Tees Faed &

FIT (R): A = 3 A GEAER F FeA T FHEY G 2
SURE FYAT F AT 4, 419 f2u 0 fawedi 6 @ weE 9T I %0 w9 Fi

(1) (A) ¥R (R) 51 571 2 3% (R). (A) Fi 76 =me
(@) (AR (R)FA TA F, &6 (R). (A) i TF = T e
(3) (A= 2, a5 (R) T8 T 7

(4 (A)FA TE 2, T (R) TE R

[Question ID = 1592][Question Description = Q89_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6365]
2.2

[Option ID = 6366]
3.3

[Option ID = 6367]
4. 4

[Option ID = 6368]

90) Given below are two statements

Statement (I) : The experience of Holy is a experience of dread

Statements (Il) : Truth will never be known till we do not exercise our right to believe in it.
In the light of the above statements, choose the correct answer from the options given below
(1) Both Statement (I) and Statement Il are true

(2) Both Statement (l) and Statement Il are false

(3) Statement (1) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

=1 (D ufersran 1 F9a 99T TS 9 B A

Fu7 (1) Heg a9 % ARl S AW e q%h 36 STSHET A )

T HYA AT 5, A9 2 0 e § ® =A 3 99 i

(1) ==\ (D 7 (D) 591 7 =

(2) = (@) i (1) 34 59 E



(2) 4 (1) HoH &, Il =h<ld (11) AHH =
(4) == (D) 7= 2, =ik e (1D 90 &

[Question ID = 1593][Question Description = Q90_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6369]
2.2

[Option ID = 6370]
3.3

[Option ID = 6371]
4. 4

[Option ID = 6372]

Topic:- 62COMPARATIVE S R_B

1) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus

progresses further on the scale of (Spiritual) virtue stations or gunasthanas. The monastic

life is the practice of five great vows of complete non-violence, complete truth, complete non stealing,
complete sexual abstinence and practice of godliness and complete lack of possessiveness.

To practice great vows is to observe the vows mentioned earlier with greater fineness.

In order to protect his great vows the monks also practice eight subsidiary vows knows as Samitis and Guptis.
Being restrained and careful in walking; restrained and careful use of monastic necessities such as

books, etc; restrained and careful in speaking the beneficial, brief and soft speech, restrained

and careful in taking food, and restrained and careful in doing one’s daily chores is called observing five
samiti or comportment. To be restrained in one’s mental, verbal and physical activities is the observance of
hree guptis.

Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance. Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation.

According to the passage the monks win by penances the following
(1) word (2) sleep

(3) death (4) enemies

AIANET S=ae 1 TEHI @ 9iau 31 9= fov awm = e i)

AfEET =i quar 1 AreAT * oy HEw: A@Tgsie @ wHe HaT 2| 56 9 98 UREAH ®H ° AT sEd
2| =g Sfem AEmat $ we 2| AEE ofe F9 # gEEaT ¥ U O TRl 1 CgE e 2| 5EE
wAfEET i guian, SErEE I SEUSAl, Hed 991 AEEE S R 4 FiE a0 qg A o w9 S
e F 2| WY WA A gEen % fem ofafa @R i 5 e a1 2| T90 U9 T e aeget
H FIET A TG, TAEYEF A1, FANYEE fFd, U AR T = Aemn, SaEgEs e oA e
T S TR T Tt F 9w 2| T, 999 # FwE L dE 3 S E i e
2|

afi wi= werEEl, g At s @9 e & s #E g e vA o A oA A w5 2=
91 % g1 g g1 F S 7, S F 28 F

=93 F FIAR T 99 F g7 30 S 7

-~

(1) ==r (2) Tz

& 74 4 3

"4 =

[Question ID = 1594][Question Description = Q91_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6373]
2.2

[Option ID = 6374]
3.3

[Option ID = 6375]



4. 4

[Option ID = 6376]

2) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus progresses
further on the scale of (Spiritual) virtue stations or gunasthanas. The monastic life is the practice of five
great vows of complete non-violence, complete truth, complete non stealing, complete sexual abstinence
and practice of godliness and complete lack of possessiveness. To practice great vows is to observe the vows
mentioned earlier with greater fineness. In order to protect his great vows the monks also practice eight
subsidiary vows knows as Samitis and Guptis. Being restrained and careful in walking; restrained and careful
use of monastic necessities such as books, etc; restrained and careful in speaking the beneficial, brief and
soft speech, restrained and careful in taking food, and restrained and careful in doing one’s daily chores is
called observing five samiti or comportment. To be restrained in one’s mental, verbal and physical activities
is the observance of three guptis.

Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance. Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation.

Restraints of activities of body. speech and mind by monks is called
(1) Anuvrata (2) S iksavrata
(3) Samiti (40 Gupti

st e = T T v i 4 R o e S

sAtEen i quian i greEn % fou g FEe: TgsiEa § 99 WA 2| 39 AE 9F TORYE w AT wg
2| Ty S mEeal i '@ 2| AfEET S g9t 1 gENaT @ Uield S Herdl B 9 HAr 2| 5
wfEmr 1 quien, smee il sTEvEal, @t A9 GEET ST i wE ae e 98 9 w9 =g s
I FIAT 2| ETY HEEG] i GO % fow miEia S iE w0 e W 2| @99 g9 T A aegH
F IIE FR AT, FEAAIEF o], TEANGEE B, A9 AR Tm =R e, T SR oA au
T 26 TR ® e geEtatd # 9w 2| 9, 399 3 FE F d9 G w5 5Em ai w e
2|

o

91 U HeTaal, OTE AIEfE o AE I F TR A g AT vd A qu A g a2 A
a9l % g1 g g1 #1 Sfiadr 2, =9 #5128 F 2

TIY GAT T, F9F 3T FHE1 H g w6 A FE T8 FEdl o

(1) A (2) T
(3 =Mk (4) 7MW

[Question ID = 1595][Question Description = Q92_CSR_SHAAN_20NOV21_S1_Shift1]
1.1
[Option ID = 6377]
2. 2
[Option ID = 6378]
3.3

[Option ID = 6379]
4. 4

[Option ID = 6380]

3) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus progresses
further on the scale of (Spiritual) virtue stations or gunasthanas. The monastic life is the practice of five
great vows of complete non-violence, complete truth, complete non stealing, complete sexual abstinence
and practice of godliness and complete lack of possessiveness. To practice great vows is to observe the vows
mentioned earlier with greater fineness. In order to protect his great vows the monks also practice eight
subsidiary vows knows as Samitis and Guptis. Being restrained and careful in walking; restrained and careful
use of monastic necessities such as books, etc; restrained and careful in speaking the beneficial, brief and
soft speech, restrained and careful in taking food, and restrained and careful in doing one’s daily chores is
called observing five samiti or comportment. To be restrained in one’s mental, verbal and physical activities
is the observance of three guptis.



Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance. Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation.

According to the passage the types of penances are
(1) 2 (2) 8
(3) 10 (4) 14

AIANET S=ae 1 TEHI @ 9iau 31 9= fov awm = e i)

AfEET =i quar 1 AreAT * oy HEw: A@Tgsie @ wHe HaT 2| 56 9 98 UREAH ®H ° AT sEd
2| =g Sfem AEmat $ we 2| AEE ofe F9 # gEEaT ¥ U O TRl 1 CgE e 2| 5EE
wAfEET i guian, SErEE I SEUSAl, Hed 991 AEEE S R 4 FiE a0 qg A o w9 S
Wﬁw%mgwﬁmﬁmmmmﬂﬁﬁmﬂﬁmﬂwwﬂmmwmﬁmm
F ITIET AN AT, TANGES Fodl, TAREE A, foR AR i g Sem, samds aEn o 9w
JHHL,!MHHq:mqwﬂﬂw—qﬂﬂ@hﬁﬂw?mq T A FE A TF I 5= 9 w5 e

2

ofF o= wETEEt, o At S S5 I w5 9 w5 S oF A a9 = i e e 2 =
91 % g1 g g1 F S 7, S F 28 F

=0 = AN a9 & 95 7

(1) 2 (2) 8
(3) 10 (4) 14

[Question ID = 1596][Question Description = Q93_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6381]
2.2

[Option ID = 6382]
3.3

[Option ID = 6383]
4. 4

[Option ID = 6384]

4) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus progresses
further on the scale of (Spiritual) virtue stations or gunasthanas. The monastic life is the practice of five
great vows of complete non-violence, complete truth, complete non stealing, complete sexual abstinence
and practice of godliness and complete lack of possessiveness. To practice great vows is to observe the vows
mentioned earlier with greater fineness. In order to protect his great vows the monks also practice eight
subsidiary vows knows as Samitis and Guptis. Being restrained and careful in walking; restrained and careful
use of monastic necessities such as books, etc; restrained and careful in speaking the beneficial, brief and
soft speech, restrained and careful in taking food, and restrained and careful in doing one’s daily chores is
called observing five samiti or comportment. To be restrained in one’s mental, verbal and physical activities
is the observance of three guptis.

Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance. Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation.

The types of Mahavratas, samitis and guptis accordingly are
(17,5,5 (2) 3,5,2
(3)5,5,3 (4)6, 4, 4

AIeAfEd F=ae ® FEgr g4 gl &1 A= faw wwm = 3 it

AfEE =1 qofar T T F U A= S WA § T FA 2| 39 9 9% TORYE #9 5 AT aE
2| Ty S mEEEr i g ISTFFTITﬂTfT"EF‘lTH{y‘*HUIHHI(HTHTHnI;MI“ﬂWW:"ISHH
wfeE 1 quien, FEEE 1 SETSal, T 991 T I3 A 9w 5 6 S T 5 F9 3= W
U B 7| BT WAl i g % fow wfnfa o qite w1 aes s 2| wEn gEE v o a5
F IIET IR WA, TEANEF TGO, TEANEE 4, 9 oW Tm I=E Se, s R oA 9w

Ij IIIII—E-G-.. -El_l-dn I.-\I-JIIJ"I?I'TI-:.I LT I7T ﬂ:m'Fm’ﬁ:‘lTrm %I T T =TT _z-l:':'_." SETITT TET:H:[ Tl'%fj';:fm'l'i']'l'l'f'rl'ﬁ'l ZET TIT=37T




"-.'"1"1"'!‘:1"' ST AT R PR TERRAIETERRL AR IR 0 TRy MR R AR TR TR AT ‘-al‘-'"‘l L LS B T il § :_l'l'—l b Bl B B B B
2l
o
T T HETEAT, 9IS WA SR dE A # TEE FEaT 5 6T U A a9 f aee #a 2 3H
91 % g1 g Fgt #1 Sfiaar 7, =99 #5128 F 2

(1) T 555 i 3. 5.7
(3)

L]

. 5gd 4 6,4, 4

[Question ID = 1597][Question Description = Q94_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1
[Option ID = 6385]
2. 2
[Option ID = 6386]
3.3

[Option ID = 6387]
4. 4

[Option ID = 6388]

5) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus progresses
further on the scale of (Spiritual) virtue stations or gunasthanas. The monastic life is the practice of five
great vows of complete non-violence, complete truth, complete non stealing, complete sexual abstinence
and practice of godliness and complete lack of possessiveness. To practice great vows is to observe the vows
mentioned earlier with greater fineness. In order to protect his great vows the monks also practice eight
subsidiary vows knows as Samitis and Guptis. Being restrained and careful in walking; restrained and careful
use of monastic necessities such as books, etc; restrained and careful in speaking the beneficial, brief and
soft speech, restrained and careful in taking food, and restrained and careful in doing one’s daily chores is
called observing five samiti or comportment. To be restrained in one’s mental, verbal and physical activities
is the observance of three guptis.

Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance. Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation.

Identify the correct statements in the light of the passage :

(1) The life of monks in practice of

(2) Monk does not regulate the actions of triyoga

(3) A monk practices the penance with the mahavratas, Samitis, Guptis

(4) A monk does not observe great vows like samiti and gupti

AGTANGT S T=ae H T T Tieu T A {9 wwe = 3w i)

AfEET =i qofar 61 @reAn & o g wEw: Avgsisa @ wHae HaT 21 56 a9 98 R ®H ° AT sEd
2| =g SfEm AEmat $ we 2| A ofe F9 F gEEaT ¥ U O TRl 9RO e 2| 3EE
wAfEET <l quiEn, e I SREUSAl, HeT 491 FEE WA A 4 S a S g9 9 o =Y S
TIEH BT 2| Y TEEA S e & fow wiut o) e 5 OeE w6 2| TEE 9 T oE aget
F IIAT AN WA, FANGEF FoHl, TAYEF B4, Ha A0 TE F9E SeEn, TaEgEs SRR oF 1 a9
TG S TR T THEiatd F 9w 2| T, 999 #1 FE F dF 3 S 599 i w9
2|

o

o7 o= gETEEt, o AfEfaEt o S I w5 O w5 e v A a0 = i e e 2=
a9t % g1 g Fgt #1 Sfiaar 2, =9 * g8 F 2

F= F AN Gal HUF B TeaH ¢

(1)  =g-Sr=a, S i @ 2|
(2) Ty T g il w5 T 9o Ta e 2|
(3) =y wEwEdl, @iufaat, A = my-ary a9 i a2
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[Question ID = 1598][Question Description = Q95_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6389]
2.2

[Option ID = 6390]
3.3

[Option ID = 6391]
4. 4

[Option ID = 6392]

Topic:- 62COMPARATIVE SR_C

1) Read the passage carefully and answer the question that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation.

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences. In the long run it will prevent

you from practicing your religion. You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you.

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes. The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration.
It is called the path that leads to the cessation of suffering - a noble truth.

Identify the practice that makes a practitioner distracted and prevents from practicing one’s religion
(1) Noble truth (2) Avoiding two extremes
(3) Self-indulgence (4) Middle-path

st Srp=ss 1 AU wien 3 i fa wv e s b
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[Question ID = 1599][Question Description = Q96_CSR_SHAAN_20NOV21_S1_Shift1]
.1



[Option ID = 6393]
2.2

[Option ID = 6394]
3.3

[Option ID = 6395]
4. 4

[Option ID = 6396]

2) Read the passage carefully and answer the question that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation.

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences. In the long run it will prevent

you from practicing your religion. You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you.

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes. The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration.
It is called the path that leads to the cessation of suffering - a noble truth.

Identify the practice that is NOT desirable in developing higher knowledge
(1) Develop non attachment (2) Follow eight fold path

(3) Straying from the middle way (4) Avoid two extremes

fizgani ! Jiféra = % S0 T 2 oA B TA w1 A0 TEen, A 9 8 form = 7w A, Swe,

T, =8 A A 5 fov At i sEitea oo e 21 A S 92 9En geeE § w56
U1 HOT| TH 9T GT A A I TG wH F WG Fo w1 3@ FoY, TEw W, 798 i
AR FEM N TE TH A TFA| G 7 T A 52 99 (98E 99 1 | Tga T8 5 T 3t o

TR F FE IF W A A B A 99 799 § 9 2@ F 5 w0 A, gtben § off 9w 9 i
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[Question ID = 1600][Question Description = Q97_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6397]
2.2

[Option ID = 6398]
3.3

[Option ID = 6399]



4. 4

[Option ID = 6400]

3) Read the passage carefully and answer the question that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation.

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences. In the long run it will prevent

you from practicing your religion. You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you.

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes. The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration.
It is called the path that leads to the cessation of suffering - a noble truth.

Identify the path that is forbidden by the bliss-gone to the monks who has taken ordination

(1) the path that leads to cessation of suffering - a noble truth

(2) the path that starts with correct view and ends with correct concentration
(3) the path of two extremes

(4) the eightfold path exclusively of the noble ones

Tiazgaat! Siftaa =4 & IUTd g 31 W=l H A w1 G0EY| 9Een, 3= Wi 6 fow 26 =97 FiE, 39e,
TETeE, g8 AN A % fov a9 smEfea afonet aren 21 A S 97 gER gaeE § =6
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[Question ID = 1601][Question Description = Q98_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6401]
2.2

[Option ID = 6402]
3.3



[Option ID = 6403]
4. 4

[Option ID = 6404]

4) Read the passage carefully and answer the question that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation.

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences. In the long run it will prevent

you from practicing your religion. You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you.

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes. The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration.
It is called the path that leads to the cessation of suffering - a noble truth.

Identify the qualities of the path of extremes

(A) unworthy

(B) extra ordinary

(C) shallow

(D) enlightened

(E) worldly

Choose the correct answer from the options given below :
(1) (A), (D), (E) only (2) (B), (C), (D) only
(3) (A), (©), (E) only (4) (A), (B), (C) only

fizgani ! Jiféra = % S0 T 2 oA B TA w1 A0 TEen, A 9 8 form = 7w A, Swe,
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(E) =&

= fau o fawewi 4§ w2 3 #1 ==A i

(1) == (A), (D). (B)
@  Fad (B). (C). (D)
(3) T (A), (0), (B)

4  F9(A), (B). (O

[Question ID = 1602][Question Description = Q99_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6405]
2.2

[Option ID = 6406]
3.3

[Option ID = 6407]
4. 4

[Option ID = 6408]

5) Read the passage carefully and answer the question that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation.

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences. In the long run it will prevent

you from practicing your religion. You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you.

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes. The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration.
It is called the path that leads to the cessation of suffering - a noble truth.

Given below are two statements : One is labelled as Assertain A and the other is labelled as
Reason R.

Assertion (A) : The eightfold path is within two extremes

Reason (R) : Following anyone of two extremes will prevent, a practitioner passing beyond the suffering.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) is false but (R) is true
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[Question ID = 1603][Question Description = Q100_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6409]
2.2

[Option ID = 6410]
3.3

[Option ID = 6411]
4. 4

[Option ID = 6412]
Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:92
Sales (SA) 12% 53
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% ]




FfatE e W fa=m fifsw 5o o 57 50 99 1 oW % f5fim g § 9ne F e w5 ot
(%) faemor Qo geg-ufeen wEEe wquE g9 T 2| '@l &6 % Per wEed H @ed 80 @ng
Alfer=hl ® T2 710 377 = YR W UvH = S g1ty

afaea (%) e | I-afeen @ gaa ( 707 )
= (uE ©) 15% 3:2
HE (T T) 12% H:3
Fmior 3fft sream (d o) 9% 5:4
TrFTEe () 18% 5:1
auF (UH 1) 21% 3:4
IearE AR feE (d #) 19% h:8
=7 (=1 &) 6% 3156

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Tt &1 i e gy FEee i IfiEd e #4027 (9Eed & 3 9 9F)

(1) 6.39 W@ (2) 4.69 @@

(3) 5.96 @G (4) 7.48 @@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1 [Option ID = 8025]
2 [Option ID = 8026]
3 [Option ID = 8027]
4 [Option ID = 8028]

A w N =

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrmbution (M: F)
Service (S3E) 15% 32
Sales (S8A) 12% 52 3
Construction and Maintenance (M) 9% H:4
Profezzional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% 3:5

FfatE e W fa=m fifsw 5o o 57 50 99 1 oW % f5fim g § 9ne F e w5 ot
(%) faemor Qo geg-ufeen wEEe wquE g9 T 2| '@l &6 % Per wEed H @ed 80 @ng
Alfer=hl ® T2 710 377 = YR W UvH = S g1ty

e (%) fameor | gev-afzen sgo (79 )

a1 (vg =) 15% 9.9



HeE (TE 1) 12% H:g
frmfor 3w srEam (o) 9% 5:4
TETEE (i ) 18% 57
TEYF (T T) 21% 5:4
Jearga A ufEe (&) 19% 5:3
3= (=7 7) 6% 3:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?
(1) 330% (2) 318%
(3) 320% (4) 80%
wH § HE dt AT S F wmed Afeen wEEd i F9 G H U &9 ° wEE 95 wEee i SEE w5

TR wfeera 27

(1) 330% (2)y 318%
(3) 320% (4) 80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1 [Option ID = 8029]
2 [Option ID = 8030]
3 [Option ID = 8031]
4 [Option ID = 8032]

A W N -

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India 1n different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% B
Sales (S8A) 12% Bz 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% s
Others (OT) 6% 3:5

Fefertaa arfers 1 o Hifsw f5ew v 53 50 ad 9 7o % e @ | e % weEee w5 aieea
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The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) 87%

(3) 89% (4) 85%

TH T AT UH U A § w059 wEed ) Fd S 0 3 & § HE wEed §i we S 5 o
feramn wfcwa 27

(1)  82% (2) 87%
(3)  89% (4) 85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]
1 [Option ID = 8033]
2 [Option ID = 8034]
3 [Option ID = 8035]
4 [Option ID = 8036]

A w N =

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Worlkforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distrbution M:F)
Service (SE) 15% 32
Sales (8A) 12% o 3
Construction and Maintenance (M) 9% H:4
Professional (PR) 18% 87
Management (MA) 21% 3:4
Production and Transport (PT) 19% F
Others (OT) 6% : b

ffafed oifers @ fa=m fifse f5om o 57 oo =8 4 oFm = fafim aaf © 9 % s =1 afem
(%) faaem un ge9-afeen FEaa aqae @ T 2| B & % Hel wEed i HEE 80 og 2
Aiferent | o 71U 377RSl = SYR W UgH W S g1y

a7 (%) oo | Ee-afeen o 9m ( T: 9 )
Ha (T 3) 15% 3:92
H7 (TH T) 12% 5:3
Frmtor aft srpam (4 o) 9% 5:4
TrFTEe (W) 18% 5: 7
TeE (TH T) 21% 3:4
IeareA 3 ufEE (d &) 19% 538
a7 (=1 ) 6% 316

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

THE U 37 TH U &1 °§ WG Gieen wEeae St Fe S SR 0 f a9 4 S ateen weee i w5 w5
N T g e e T
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(1) 5.17m@ (2) 7.5

(3) 579 (4) 1329

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040]

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforee of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% bh:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5 G
Others (OT) 6% *h

frafafes aifes = fa=m fifse 5o o 57 5o ad | om = fafim & & e & s =1 afam
(%) Taemor qun geu-ufeen e S SEE T 2| W & % Pl wEwd H ged 80 w2
ATt § T2 U SATHS] % YW T YT % 391 alrAu)

WA % FEEE F1 EFan G

wfeore (%) T | geq-wfeen wigam (309 )
Fa (TE 3) 15% i
Ty (ug ) 12% 5:3
fomto it srgeem (o ) 9% 5:4
TrpeEe (d #w) 18% 517
TaYT (T T) 21% 3:4
Seareq A ufEE (4 19% 5:3
W= (=7 7) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17 :39 (2)16: 37

(3)16 : 35 (4) 16 : 39

=t TH &7 § FEG AfEen wEee F TE @R § 98 A of 7 @9 ¥ w1 wEed g S w5

AT F 2 7
(1) 17:39 (2) 16:37
(3) 16: 35 4y 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]



3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

AEATH = T T § ged SR R Sl gE w6 9 F @R 36 i e WoEa 27
(1)  #id &= (2)  FEsg =
(3) W ER (4) == =

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8045]
2.2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

Fresferfi o s s e T # e Fae e T e @ e e
T 2| 3 AU SHEEn SEET i FHA ¥ T @ wiE H FHan SHaen SHEE % S @6l 6

(A)  men-gwar (T

(B)

(C)  Trmm Fi afufa

(D)  T=mE

(E)  AAwiman

Fi= fau U ket | @ WE 3T 1 = it

(1) (A) 3 (B)
(2 (B) IR (C)
(3) (D) (E)
(4)  (B) = (D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]



3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List Il

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List I Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (l) Using Swayam and Moocs

(B) Open and distance learning method (ll) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(D, (B)-(I1), (C)-(In), (D)-(IV)

(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(1)

(3) (A)-(1V), (B)-(lN), (C)-(I), (D)-(1)

(4) (A)-(I1), (B)-(1), (C)-(1V), (D)-(ll)

THt-1 % @y G-I =1 faem ifse) g1 8 3=3 wifoem goonen | foam i fafam & 02 2, st g4
II % st ottt 61 wamEeiiear se@ 5t a4 4 18 21

-1 FE-1I

Tarego =i faferEn TATEI AT FET w1 A
(&) mE-TIE i At fafa D) T S
(B) T 3R gad! wferm fafy (II) wfawiaa e e
(C) fareqmr it Gt fafa (II) Aisger AT<ATcHF A
(D) e =it sATerEs fafy (IV) uf=m=t =+ wa-wy fomees e

= fau o fameul © O wE 3E w1 = FitAv

1) (A)-D. (B)-II), (C)-(ID), (D)-(IV)
@) (A)-IID, B)-AV). (C)-1). D)-II)
3)  (A)-AV). B)-(IID). (C)-AD. D)-I)
4)  (A)-ID, B)-). (O)-(IV), (D)-(I1I)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (I) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

o (D) : IUETed AT TR WS S WA % S S IR a9a F S dE

F2 (II) : FEAE =REeg TEY 3w SAteacs wiEn gt & & =EEn 3 o



BT 7 % TEHT | A0 R AE R
I YA & A °, 4 50 T fasmed § | ged 3ugw IO o 99 S

(1) = @) 3 1) 3 78 &)
(2) TR (D) &7 (ID) 241 794 2
(3) = () Wl 2, #fed Fo (1) 7F 21

(4) =y (1) 7o 2, ST wyF (1) T8 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= FIT =y f2u o 'F“ . U ATHEYE (Assertion A) % w9 § foiga % Al R 5% M0 (Reason R)
% EqH :

s (A) foem 4 sgfe st s #@ A snariE gEEa g 1 FiE wEeE st e
! SEAH T 2

F1 (R) TRt et fereror mEmen ownedt =i wfig wiiErtaat @ gan 5 @y w@ge e aE
=nfen|

IR FYA W |, A o T foe | @ w8 S 99 i

(1) (A) =i (R) 2H1 57 & =i (R), (A) F ot === 2

(2) (A) 3717 (R) 31 59 7, @A (R), (A) i T8l ==men 981 2
(3) (A) T 2, =T (R) 9187 2|

(4) (A) 375 2, @ (R) T77 2|

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

Tor| TR % Tt | wiaEEi-uiss = ueEad e S 2 v

(1)  F=dra ame (2) tfeEtas my
(3)  =EEETeEw Y (4) TR Y

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of



research?

(A) Descriptive method
(B) Experimental method
(C) Ex Post Facto method
(D) Historical method

(E) Exegetical method
Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

aftpenr aftee fomdt aforfa = 9t wifagfe =7 smfe % =9 4 = 2, o9 i F=fafes 5 9 & G

= TIE TN & 7

(A)  Tagones @i

(B)  wErTeR=s g

(C)  =mrs &y
(D) =Tty

(E) =g fafa

S fau o faedt 9 & wE 3 F v Al

(1)  (A) 271 (B)
(2)  (B) W (C)
(3)  (C) ¥\ (D)
(4) (D) s (E)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (ll) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (V) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(1n), (B)-(IV), (C)-(I), (D)-(1)

(2) (A)-(1), (B)-(I), (C)-(IN), (D)-(1V)

(3) (A)-(In), (B)-(lI), (C)-(1), (D)-(IV)

(4) (A)-(1n), (B)-(h), (C)-(1), (D)-(IV)

T=t-1 = =17 g=-11 1 foem Fife| g1 % 779 & =90 950 2, Ju6 gui-10H 39 g TG T

-1 T 1T
MY = = T | W AT dEAE
(A) wwEE (I)  SAThST =1 TR AT T Tegd i
(B) uftwews fmior (I) e T U2 o 1] H o
(C)  wie=a= wfw= =1 =97 (I11) == % &7 F Fe&T 797 I3
(D) e fagem (IV) =9 =0 &+ &= gay w9ind F7

= fou o fawel § 9 wE 39 w1 999 FitAw




1) (A, B)-AV). (C)-(ID). (D)-(D)
@ (A)-D. (B)-AD. (C)-(IID). (D)-AV)
(3)  (A)-D, B)-AID. (C)-@). (D)-AV)
@)  (A)-ID. B)-D. (C)-(D). (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (II) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

= 2 e fau o F

F9 (I) : T TE-TEE T MI-TF § @ T GHA % TEEY SR Al s W HAar T8
44 W y e YO, i n o r%
For (IT) : ity et Afahar F sas Fguer adt sl # foro wfEe 2

SYIRE YA % e |, A 5 T fasedl § © A 3 1 99 it

(1) == (I) #H (1) 3 T 7
(2) =y (D) & (ID) 241 318 3
(3)  FW (D) uA 2, fF F9F (D) 39 2|

(4) = (I) 99 =, witda A (1D 7 2|

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

dr 7wy fow T § ; ww sfieRYe (Assertion A) F ®9 ¥ fofigd & ZE 35 FA0 (Reason R)
ER=R-

AR (A) et wa wiekewn (Hy) =0 FeresofiE afmsmern (Ho) =t @erar ° gham B s
=Tt

F1T (R) : Sta witheraT (Hi) =i a1 Afqge @g =9 & T8 i 51 gl 2|



TR YA o AqTAE H, 9= 50 T =FHedl § H 996 39 I Al T3 FIEAC

1) (A) R @) A TE R R). () F T ==

(2)  (A) @R (R) =A1 T 2, S (R). (A) 1 @ s 796 2
(3)  (A)wE 2, = (R) 7R A

@) (A @E FE B, @A (R) WA 2

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

g TE Tiee e ad UgiE UE faawm Fetatad 4 8 e At s w27
(1) 30 (2) 307s
(3) 15 I (4) 15 o=t

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

| gm0 ud-faeE (S) "Let truth prevail 27

(1)  fz=zmms (2) =TETH SITF S
(3 ff=m (4) =feg

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 31 =y 2w U E ;v wiHEU (Assertion A) % T H fafima 2 @ B 3% FA0 (Reason R)

ATHFIA (A) : ATeF THR (FT5FRE) AUaTHd Ai6F TEEIE S AHE A 8, e A8 Hifsa
i 9% H T 99 U2 W 2

FT9 (R) : 2Tz AR (WS difem W asE B i S v 2
T YT F A °, A B T e § 8 wew 3 S A = i

(1) (A R (R) T =8 2 3R R). (A) F T =R 2
(2) (A 30 (R) 241 T 2, =0 (R), (A) =l 98 = T8 2
(3) (AT 7, Al (R) @& 78 21

AW TP , TSRIPE, o, . WEUEn. B ., % (YO NNITy. . T -



V) Woy) ol Aol o, T LW Aol ol

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHHET % 39T AT =g AET T deEthies 0 TR O T TRihE faas 9 et afed g

(&) wErE Tasm At 1 ama # @ w9 F e
(B) == = Iaiga S & Wy TeE 21 F o)
(C) o Fr fen womeh = RS9 F )

(D) == gwn sH % fog & wifsar =1 woae v wifes w2

dr f2u o fawewt ® @ weE U I 1 9 A
(1) == (A) 277 (B)
(2)  aa (B) 3 (C)
(3)  @aa (C) #iT (D)
(4) = (A) # (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

e <t 1S g 7 I wEmw A wE e = et fif

(&) @
(B)  ggIal

r

€) TEmm



(D) =M=

(E) = =14 8541

J= feu o el § | wEl 3T o =9 FIAu

(1) === (A), (B) 31 (C)
(2)  =a= (B). (C) & (D)
(3) %= (C). (D) ¥ (E)
(4)  =ae (A), (C) # (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

T 99 = S UF UHEE R ST iR o0 U9 3 BEET 3 4000 ¥, 36H AT 4 HEAT § 4500 T
#i sAfaq 5 wEAT # 5000 w9 91| A5 3@ ¥ % SNH T w=d 5000 9¥ f |1 4 uhEw i sied
ATt 29T Rt i ?

(1)  3000/- =5 (2) 4000/- ==

(3)  5000/- =52 (4) 6000/ - =7

[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5  (2) 98.25
(3) 55.75 (4) 56.75

70 ® 90 % ®rg # @i ATy Aemel = e gan -

(1) 76.5 (2y 98.25

(3) 55.75 (4y BB.75
[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]

3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% =fF 33 i 39 99 W 11 iR 39 F A g & ave @ At = 21 afoww 3 e
Q.E{-:

(1) 25% (2)  50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]



2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

at3 ot wg 1 P g me T gom A 95% 2 ot =y i witeraa = 27

(1) 4.26% (2) 5.26%
(3) 5% 4 T7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

Afz s =afw et awq #1 25% vfawa &1 =1 T 39 1200/~ #9094 =01 2 @ 30% = 9 FAH F

fou =5 =5 awg =i fem Fma w s=a =E a?

(1)  1600/- =93 (2) 2000/- =93
(3)  2080/- wwd (4) 1560/- =5

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti  (2) Anumana

(3) Upamana (4) Unuplabdhi

T WAATE S9N § a1 AefatEd 8§ wE-a w96 ame 95 i = 9e 9 |y oA w
AT 27

(1)  s79mai (2) #3AH
(3) EUEIT] (4) Tl

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

I TR o FFEN AHE % WHe H S ] dE HE o R

(A)  Toamwd g @ seEw it wmEan T = we (30



(B)  FEOT = FE (7g)
(C)  sAfgamon i fagdt = =v d gfz (o)

(D) Afqgron =1 %o (wfa)

(E) fafea Fam =1 3gmm 2 (3=TETm)

e fau T fashedt d @ w@E 3 w1 wET Fifw

(1) (D), (E). (A). (C). (B)

(2) (D). (C). (B). (A). (E)

(3) (D), (B). (E). (A). (C)

(4) (D). (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philozophy reduce Sabda pramana
(verbal authority) to inference?
(A) Navava
(B) Vaiéesikas
(0 Buddhists
(D) Mimﬁmsﬁ
(E) Carvaka/Lokavata
Choose the correct answer from the options given below :
(1) (B) and (C) only
(2) (B), (C) and (E) only
(3 (B) and (E) only
(4) (A), (D) and (E) only
e A 99 T AT TS Isg GO S HTEH % Had Jdl B 7
(A) =
(B)  dsif
© g
(D)  dmEn

(E) AT A

Hr fou v fasedi ® @ W 3T 1 wET AiAC

(1) == (B) #71 (C)
(2) =&« (B). (C) #R (E)

(3) e« (B) 31T (E)



(4) a9 (A), (D) # (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.

In the light of the above statements, choose the correct answer from the options given below:
(1) Both Statement (I) and Statement (Il) are true
(2) Both Statement (1) and Statement (ll) are false
(3) Statement (l) is true but Statement (ll) is false
(4) Statement (l) is false but Statement (ll) is true

A &1 e fau o
w7 (D : TS AR T F SER TS H @i e % w w2
Faa (1) ks WA 97 a1 gl 2 5 =6 5| uen 8 e s @i afew e 98

FaTdt 2 75 =9 HE A @ 2

IR FHUA F AEF °, S B0 FEe § " g 39w 99 i

(1) =93 (D) =7 (1) 341 a9 2
(2) = (1) i (ID) 241 15 B
(3)  =ua () uca 2, i =9 (1) 31609 2

(4) = (1) 989 &, wtFa %9 (1D 909 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (I) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (V) Becuase there is smoke

-1 % Ty g=h-11 1 faem Fifm)
i1 FhII
(A)  Afaron i wEiE % =9 9 9 (I) & g1 = 2 AR AT A R W e
L
(B) = w1 HU (1) "&rsl ox &1 2

. P - P - " o



)y IHled 449 =l Solatl oAl Lil)y BHicit Yalsl 4 AP &

(D) =iua =ht SHaETel AfTaR #1 99 (IV) #=it ==l gat 21

= fau U feekewt | @ wWE 3T w1 = i

(1) (A)-(I). (B)-(IIL). (C)-(IV), (D)-(1I)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(IV). (C)-(I). (D)-(II)
(4) (A)-(ID), (B)-(1), (C)-(ILT), (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

TF T A FOE 5 B 8 0 U 99 Wisw % oued w1 w5 e T i gee e w aw
=1 et uzia Jise! i FUET JEE § W SR a9 ° # 2

(L) PR (d) (2 =q-tgEa
(3)  wifas w2 718 359 (4) Ue Hi S s

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]
3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 71 FuF U T E : vF wfiEeE (Assertion A) F ¥7 ¥ fAfaw ® A1 50 3WF FEO (Reason R)
EYH

At (A) el WETT AT RE H U AT e e =0 ° gerug e e
F (R) T 3R FEgE HiY a0 W ATE | 5aE A5 o ad |

TIF FIH F e o, #9230 7 et § 3 uE 3 W 99 it

(1)  (A) 3 (R) 241 @9 & #1 (R), (A) 1 =1 =ame 2|

(2) (A 377 (R) 3F 509 7, T (R), (A) Ft 7t = 61 2
(3)  (A)=ed 2, oA (R) 3797 2

(4)  (A) 379 2, @ (R) 979 21

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity



(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :

(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

HsH 92 W HEE BIE] SHAT % 9 HEeIE RS GEAIHE % HE] 5 i TR i)

(A) 1500 M Bytes
(B) 5 K Bytes
(C) 1 & Bytes

(D) T Bytes

e fou o ket 9 @ wE 3w =1 = Fifu

(1) (D), (A). (©). (B)
(2) (A (D). (O). (B
(3) (A). (B). (C). (D)
(4 (D), (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

FAEEM % TaY # HEH sy A - S gE a8, A g wed g E

Fo (1) : TE-FE F I =g W FH w6l 2
w97 (1) : S-S % HIEAS A Se[ed il STUET Fal A A 5 H S27 WSl S HeheT 2

IWIF FUA F AEF °, A9 @0 70 T § |/ HE 39w 95 i

(1) =9 (1) = 1) 3 a3 3
(2)  =yE (1) 3 (I1) 241 319 2
(3)  =u (1) &ca 2, wifha =ae (1) 518 2|

(4) =y (I) 8 &, wifba F9A (1D 9 2|



[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List 1l :

g1 % =y g=1-11 # faam Fifsm)
i1 HAt-1T
(T TTieaT 77ee) ()
(A) OCR (I)  Z0ha =1 Eafeligd SeaEsl 0 TH % o
fer g = Rl
(B) OMR (AT) =g-fameii wignal § &% wg@ 1 & o
(C) Email (IIT) STHA=TS FegHeRe
(D) Instant Messaging (IV) =aFriers Fegfnem
9 fou o fameal # O wE 3T w1 == i
(1) (A)-ID, B)-(T). (C)-(IV). (D)-(I1T)
(2) (A)-(IT), (B)-(D). (C)-(III). (D)-(IV)
(3)  (A)D, (B)-(ID. (C)-(IIT), (D)-(IV)
(4) (A)-(D). (B)-I), (C)-(IV). (D)-(1I)
Match List I with List IT:
List I List IT
(Computer Terms) (Purpose)
(A) OCR () Used to scan typed or handwritten
documentsa
(B) OMR (II) Used to mark  multiple-cholce
examinations
(C) Email (IIT) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
(1) (A)-(ID), (B)-(I). (C)-(IV), (D)-(I1D)
(2) (A)-(IT), (B)-(I), (C)-(IID). (D)-(IV)
(3) (A)-(D), (B)-(II), (C)-(1II), (D)-(IV)
(4) (A)-(D), (B)-(ID), (C)-(IV), (I)-(I1I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

fefeiad = ° HiF-91 UF ATH F A F Gl ggry 27
(1) = SIS (2) faemEs FerES

~

(3)  FEA SEHATHETES (4) Hem



[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

frfarfiga 5 9 F-w =3l | gt S0 = =1 9@ 27
(1) (@)
(3)  FEA (4) ey

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

ffafan § o -t ol ey s Sedt B i IuE sy SR e a2 2
(1)  g%= (2) TEEHE TEEE
(3)  wEmTE (4) TEA

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

TITH TR 1 TAEE w5 A F "92Y § NMSHE fFHoafafas 9 9 e ggmer 27

(1) National Mission on Solar-Hydro Energy
(2) National Miszion on Sustaining Himalayan Ecosystem
(3 National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayvan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frafafes & 9 77 ugust =1 wfage 79 591 & e it Ferag aied W oasdar 2 7

(A)  ATEZEE SRS



(B) =R 92 (PMas)
(C) ==
(D) e

(E)  T5g| AFE1ES

= fou o TaweTl O O T2 I & 999 HiA

(1) == (B), (C) ¥ (D)
(2)  Fad (A). (B) 3R (C)
(3) === (B) # (D)
(4)  FaE (B) #(C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
3= foan & #@=d 9, AEEE F=OR A T i O § uF agass dan 9 FyiiE e F
Frfefiaa # o e wde fem /auea =i e fa m?

1) 7 (2) TwAH A3
(3) wHEImA (4) uamEIi s

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
List1 ; ; ; ; Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (ll) Bengaluru

(C) NDRI ; ; (Ill) Lucknow

(D) CDRI ; ; (IV) Karnal

=1 % =y g1 faee Fifsw)
g1 1T
(A) wTTH O T
(B) wHaEITT ) ==
(C) A B HAR 3% Iy =@75
(D) i < = g (IV) =T

e fou o famedi @ & wd 3o #1 = Hif

1) (A)-AD. B)-ID. (C)-(D). (D)-(IV)
@ (A)-ID, (B)-D. (C)-(AV), (D)-(I1T)
3) (A, (B)-AD). (C)-). (D)-(IV)
@) (A)-IV), (B)-ID, (C)-(II)., D)-@)

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]



1 [Option ID = 8189]
2 [Option ID = 8190]
3 [Option ID = 8191]
4 [Option ID = 8192]

A W N -

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

7% fore ifa (ua § d1)-2020 ° w3 < i vs Fi e F= w wwE 2| 3w e # fated v s 7

(A) TR G g S FEER 5 AU e dEmw Fe|

(B)  =iferma =i AueH =g WEifER % TE % Geg § HEE % g9 EE-T2E 50 OF 09 9ed S

(C) =t qeE wTeTt Fi wREn 3§ wEEar g FRa e w it F#)

(D)  TEwe dft=El, F SR SoE 9fEdT # &9 © dTew gHifed 1 @ e eg et
ST =1 TAR S 5T FAE AIEH T A

(E) oo viieniffil © siifg® 27l Seum@ smars #1 Ham s

= far o fasew | | wE 39 w1 =3 FirAw

(1) === (A), (D). (E)
(2) 3= (A), (B). (E)
(3) %= (B). (D). (E)

(4) = (A), (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

frafafaa § @ FH-1 2-wfamm 79 £7
(&) T=Em

(B) g

(C)  T=Fa

D) &



(E) 7

= fom o fameul @ § WE 39 1 =Ea FIAU

(1) %@ (A). (B), (E)
(2) = (A). (C). (D)
(3) % (B), (C). (D)
(4)  Fa= (C). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

I TPk TZET 99 AT A 2015 # wAd fawm we-4 O geitdd SeieiEd @ 3 FE-0 95 S

T At
(1) 379 T 3IR qged] (2)  TTETTOER fore
(3) T IEA (4) FEF FATER TH SEGETEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last

vear. the virus has spread to every continent except Antarctica. We have now reached the

tragic milestone of one million deaths. and the human family 1z suffering under an almost

intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an

unprecedented socio economi crisis. Stressing every one of the country it touches, 1t has the

potential to create devastating social. economic and political effects that will leave deep and

longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,

alongside the health response lead by WHO, and the Global Humanitarian Response Plan.

and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income. with no way of knowing when normality will return. Small

1slandnations, heavily dependent on tourism, have empty hotels and dezerted beaches. The

International Labour Organisation estimates that 400 million jobs would be lozt. The World

Bank projects a US $110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T T HEGHEE U U1 $HF @75 148 ¢ W H I 2



The

HIAFT T FHF5- 19 TaME 201 059 w1 AYdYs 370w = g9 i e faveag & an o wem
oS A 2| fUse o % sifam 241 & uforn § sue 3299 % WY JF 9 FACERiH i BDISH el
TETET B g 2| O TF §@E F9 H 10 W S SO FH T 9 7R R AeEad w6 ORI
ST FAHEAE A 3F1 95 T8 2| Wed 9% HEMN| TR @he ° Hel HAuh 3, T8 UH YA
HETAR-ASF Gz S B| 29 W UAF A SHE UANGd 2| SE% [SHEREl @ETHE ATdE S
(ferarft) @ 7 w2 & ft o 7011 909 T = w7, W @ T fOve TR we & medm ¥ A9 1w
e gedl gegl w f 2@ w2 a9 37 dfvas AmdE e FEeE o wE w0 o g w s
THAE % Sed § e R T 2w 5T A e St o AE e w® 2| 3 T A R aiegta
w9 GEE B e WA g g gl % viee 3 wHg-te Wil S B SAaUsiE 49 E@eT w6
A & TR 400 fafemm (40 =s) <M =i ARl S @Rl B fava S A ATEE S 8 R os| A
w-Tau (ifedm) 4 110 Tafems smfeh gen i = s soe srfyoe 2 s00 fafe=m (80 #arg)
S AT S et g w § gued a8 A e

major crisis faced by the world since World War Il is in which area?

(1) Industrial (2) Technological
(3) Communication (4) Health

o favagg & =12 fova =1 w99 791 99 FFm &3 9 s 27

(1)
(3)

PPN P 0
91 (4) ==

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]

T
2]
30
4]

A W N -

Option ID = 8205]
Option ID = 8206]
Option ID = 8207]
Option ID = 8208]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHOQO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US $110 billion decline in remitttances this vear, which could mean 800

million people will not be able to meet their basic needs.

TS T AEEHYEE U 9T $HF @75 4T T W9 H I 2|

FHAFT TEE FG5-19 FEMR 7R 759 1 AYTYE I7a% TR g9e 3R f3m faveag & @ 6 o
g A 2| et = % sifam 241 | uften § sEe 2EWg % W1y 9% 9EE S i BgH T
TR B B 99 21 3T OF g@E ®9 H 10 @ o SO S T 99 7 AR gl aead i a #
ST SHEAE diF 33E1 U5 W 2| Weg 9% UEMEl WRed GhZ ° ®el SAUE 8, q§ Uh AYAq
aETEE-AE w9z S 3| ZW W U oA SHE Wi | sE% SHErmnl AEmss Andsw S

P o o B o e =, N e 5 T ey e P




ST AR w9 o PME S0 AHE 050 Tes SR o SIT o] SEIR S SR SIFHPAHEY SSHESE0 A
(ferarft) @ 7 w3 & ft o 7011 9 T = w2, W @ T fovg TR we & medm ¥ A
e ged gggi w ff 4@ W & a9 3 dfvaw A st FEeE % owd w0l g w s
TH-IAE T Agea § O R T 2| W S A S R e e w 2| 3% 6o o e
w9 GEFE B e WA g g gl R viee 3 wHg-te Wel 9% B SAaUsiE 99 E@eT w6
w99 & R 400 fafe= (40 =s) =iom i S 5 wewdt 21 fava g% 4 wTEE w2 o s ad
o-Te (ifedE) 4 110 faferm smfeh sen i =t st seem sty 2 7 800 faferm (80 +Us)
A AT S et g w § geed T8 A A

The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

wemH] = Fefeafiag @ o fFa &3 w g =195 e 27

(1) =t (2) =
(3)  =mm &R wEeA (4) TFEEAR

[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

A W N -

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.

T W AEGHEE U2 9T 3 915 5T T weT % 5 2|

HAFT = HI(F5-19 TEMR 501K 509 1 SYdYs d79% S g9 iR fga favag & e o mem
ot AT 21 Tt @d % wifom B4 4 ofEen 4 oo 339 % WY TE A9 HIHOH B BISH TeuE
TR B b 99 21 3 7% @R B9 4 10 9 S SO 9 T g9 7 e ol aeea w5 R #@
T SEEAE AF IS U5 W B| g A% FRWR TR THe § FE AGE B, T TR SO
aEfaw-AAEE wwz i 2| 29 W U ARG THE UAIES 2| 36 Al miEEs Ands Hn
(ferait) @ 7 o= & ft o T 99 T W R, Wy d 7 fave TR e & 5eAe @ u9e
wWrEe wedl ggg w1 A 2@ w1 2 9w g% afvew uedE st fEee % e W o 3w e
A % ged | e w21 & 2 @ e S o o e w 21 3% T8 A TR afdete
w9 GEFE B wEed 9 Y w6 gdiE wel % vleel #i WHg-07 Wiel 9% 7| SAaUUiE 49 e @6
w2 R 400 fafemm (40 Frs) = A e s wwdt 21 fva d% 3 wgEe e 2 e osm oA




w-uaur (ifedm) 4 110 fafermm amfeh s 6 = smof) goe sifqoe 2 5 s00 fafemm (80 #u3)

ST O AT Sl R g A H wRe qAf Al o |

Which continent is least affected by COVID-19?
(1) Asia  (2) North America
(3) Australia (4) Antarctica

FIA-T1 TR FTS-19 W HoH FA WA 57 27
(1) = (2) =l sTufER
(3)  emfern (4) R

[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

A w N =

4)

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1= the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since its emergence 1n Asia late last
yvear. the virus has zpread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. 1t has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP i1z the technical lead in the UN's socic economic Trecavery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income., with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.

T 1 WEGHEE U2 997 T §1g 198 T W9 # I 2

FHEFT TEE FHIF5-19 FaME 201 569 F SAYdYs 479w SR g9 i1 fgia favsag & ae i wem
oSl T 2| e = % sifaw 241§ ufoen § sue 3299 % WY FF G SACEhie Tl BigE el
TR W R I 2| 39 OF g@E 9 F 10 9@ | A 9 = 9% 2 @R 5 geEa # R #w
T SEEAT AT IIAT UF @ 2| W TR GEWE WA OEZ U A offgw 3, TR UE A
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF



(3) UN-GHRP  (4) UNSC
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(1) UNDP (2) UNICEF
(3) UN-GHEP (4) UNSC
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Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHOQO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US $110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions
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